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Question Number : 1 Question Id : 8135613201 Display Question Number : Yes Is Question
Mandatory : No

Roots in some gymnospermic genera have fungal association in the formof A in B |

Here A and B refers to
§9) 3,8 D perdown ogod e 3 drdo A &
H65° A & B e @donEnd

Options:
A — lichen:
A —gsa:

e
|
]
A
]
5]
£

|
Fe!

q

F

A —lichen: B —pinas
A—g5d B-—2d

A —myvcorrhiza: B —cvceas
3 % A-— %bo@ Aarwoe:  B-— 25

A — mvcorrhiza: B — pinas

A—3Dog Jorwe: B 232
4.9 =
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Question Number : 2 Question Id : 8135613202 Display Question Number : Yes Is Question
Mandatory : No

Select the correct statement with respect to Bryophytes?
Q(ﬂ]";&éﬁ:}&'a RotioHot) S0& T°VS° DBADLA .3“550’?

Options:
Embryophytic, Archegomate, Tracheophytic, Cryptogams
Do G 20D, ©50) AN (o), TIS® SHAPOCG LDy g e

Archegomate. Embryoplivtic. Atracheophytic Cryptogams

y es8), Fado o, 3:}-:&6@3@ 20, YT S50 G a2y 0t A e
2.

Embryophytic. Tracheophytic. Archegoniate Phanerogams

DoEB\D 20D, TP Snareaing, ¢8) Famo (Y Hayold D) e

Embryophytic. Vascular. Non archegoniate Phanerogains

208 B\G 20D, TS Srrw0ind, ¢8) A0 T PHayold A e

Question Number : 3 Question Id : 8135613203 Display Question Number : Yes Is Question
Mandatory : No

Biosystematics aims at
&)Cﬂ:"ﬁﬁ&]ﬁgg EJE?SG
b d

Options:
The classification of organisms based on broad morphological characters

- DE), DT EFLTY DETD VEETY B GolT PV afgsaomm
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Delimiting various taxa of organisms and establishing their relationships

. DG G5°0 PO STV BDBDBOMT ol) T WG| VoLTORD RlNeNAL

The classification of organisms based on their evolutionary history and establishing their
phylogeny on the totality of various parameters from all tields of studies

A3 20 1908 B dorr AP H0¢Bott) ook ©) £8 o BG(ELTY

. RSO0 QG DATETY ST dorT Sl D?.f)“:}l g":}oﬁ&)o
3. '

Identification and arrangement of organisms on the basis of their cytological characteristics.

SEPE0 VLT BIdoT 2V 8ot 0CiL 8 5 :ch&ais umcﬁado
4.

Question Number : 4 Question Id : 8135613204 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following correctly represents the type of lifecycle patterns from the given options?

Lyzole

[2mh=c) o Sporophyte
| '@/’ N /‘ o

NG

7o (2n)

Bt 98], A0 5008 208 Aol

Options :
1 — Haplontic. 2 — Diplontic. 3 — Haplo-diplontic
1 — g 2, 2 - BoD D38, 3-8 GLoH A
1. ¢ @ @ @
1 — Diplontic, 2 — Haplontic. 3 — Haplo-diplontic
I — &qas d8s. 2 — g DS, 3-8 (aiNery o3
2 % @ ® &
3. %
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1 — Haplo-diplontic. 2 — Daplontic, 3 — Haplontic
[ -8 SoD VB, 2 — BEW DSBS, 3-8 2as
@ ] ®
1 — Diplontic. 2 — Haplo-diplontic. 3 — Haplontic
1 — &0 D38, 2-Us SEH RBE. 3 - DS 088
4. % D7 @ ® @

Question Number : 5 Question Id : 8135613205 Display Question Number : Yes Is Question
Mandatory : No

Read the following statements regarding biological museums
(1) Biological museums are generally set up in educational institutes such as schools and colleges
(1) Museums have collections of preserved plant and animal specimens for study and reference
(11) Specimens are preserved in the confainers or jars m preservative solutions
(iv) Insects are preserved insect boxes after collecting. killing and pinning
(v) Larger animals like birds and mammals are stuffed and preserved
(vi) Skeletons of mammals are not allowed to be kept in musenms,

Which of the above statements 1s/are not correct?

&:J?Q Sur(Eoovs) 008008 dnoiren
(1) FoToe, SvTom Sob Dw&’m{gue‘i‘ Joroeorr 257 Surjationn i)cshd)@"d)
(11) ml‘SeaoiJnvﬁﬁ NE, Lo ;:Jiamgm E.‘thlgo.ﬁén 5§05 b0k Ardothti)
(i) Do Erme o 26uS” D VPN BEIOVE
(iv) SE0R 80d), T tSod, D)0 Susw DOV’ FEHGWF A
(V) 26 zodo@ ddow, Smery T8 3boui drad dob BEHGTH
(vi) S6me eRboaTu) Srabers’ BEads

D T’ 8 5 TR Mfotsol?

Options :

(ii) & (iii) only
1w (i) & (i) 2rgd

AP EAPCET 2021



AP EAPCET 2021

(i) & (vi) only
L (1) &(vi) argo

(v ) only
3 % (v) Srdd

(vi) only
4 (vi) &S0

Question Number : 6 Question Id : 8135613206 Display Question Number : Yes Is Question
Mandatory : No

Velamen 1s found in

DT D )

Options :
Roots of serewpine
200098 De5e5” Do

Aerial and terrestrial roots of orcluds

u&ljﬁge&“ﬁ:& Srodored Adoi Zrenss, DG
2. % G

Leaves of Ficus elastica

- DS @wﬂgs“ Do

Aerial roots of orchids

4w u&&ﬁ_}eﬁ* Teaiie DK
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Question Number : 7 Question Id : 8135613207 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Column - 1 Column - IT
(a) Apple (1)  Outer potion of receptacle
(b) Coconut (1) Fleshy thalamus
(c) Jack frut (i) Thalamus and pericarp
(d) Guava (1v) Endosperm
(e) Pmeapple (v) Bract. perianth and seads

So8) TR 2AHGPeC?
S -1 adn - 11

(a) Do (i) erargusdiso
(b) Eend (ii) GRFBSD YaryRRo
(c) DI (ili) 2paryddo BaLL HUEISE
(d) 2 (1v) 208000
(8) TRDTR (v) DRyEy0, 28DG0 batn ST

Options:
1% (a—ii),(b—iii),(c—iv),(d—v),(e—1i)

5« (a=v)(b—iii),(c—i),(d—iv),(e—ii)
3 % (a—ii),(b—iii),(c—i),(d—v),(e—iv)

4 (@a—ii)(b—iv) (e—v),(d—iii),(e—i)
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Question Number : 8 Question Id : 8135613208 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Family Plant Fruit
(a) Solanaceae (1)  Cinus (p) Pome
(b) Moraceae () Pyrus (q) Syconus
(¢) Rosaceae (i1) Lycopersicum (1) Hesperidium
(d) Rutaceae (iv) Ficus (s) Berry
308 TN adHdSed?
Sévowo 311.1}5?, PO
(a) Todd (i) D89 (p) I
(b) 3B (i) PO (q PDEWR
(c) BES (iif) LArEr (r) %yBcaio
(d) dr&d (iv) D8R (s) 0ycdwe
Options:

1% (a—i—q),(b—iii—1r),(c—ii—p),(d—iv—s)
> % (a—ii—p),(b—iv—q),(c—idii—1),(d—1—5)
3 % (a—iii—71),(b—ii—p),(c—i—q),(d—iv—3s)
4v,{a—iii—s),{h—iv—q),[c—ii—p),{d—i—r:)
Question Number : 9 Question Id : 8135613209 Display Question Number : Yes Is Question

Mandatory : No
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Vegetative propagule of curcuma 1s
DZ0IPHS” FHAD T SEE

Options :
Runner
1% dé:,hﬁ

Rhizome

- %“;.‘m&

Oftset

Corm

4w SocsE

Question Number : 10 Question Id : 8135613210 Display Question Number : Yes Is Question
Mandatory : No

Pollination 1s
o ’:\'}oﬁdbo e9:5TT

Options :
Transfer of gametes on stigma

|y 8o P8 Roarh Dare wad

Transtfer of male gametes on stigina

| Serdo g R Poard Dere 2389
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Transtfer of female gametes on stigma

Serdo P8 B Doalr Dare 0&®

Fusion of male and female gainetes

. R, AR Dodird Dare SwoNS

Question Number : 11 Question Id : 8135613211 Display Question Number : Yes Is Question
Mandatory : No
Polyembryvony is reported in
(1) Citrus
(11) Mango
(111) Gossypium

Correct names are

BIEO0GE (e 2008 0

(1) PR
(11) AT=aLE
(1) DS

DeIeS° HBADD D

o

Options :
(i) & (iii) only
1 % (i) & (iii) Soghadd

(ii) & (iii) only
5 % (ii) & (iii) Sordha

5 % (1), (i) & (iii)

4.
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(i) & (ii) only
(i) & (i) Sordao

Question Number : 12 Question Id : 8135613212 Display Question Number : Yes Is Question
Mandatory : No

Plants of which one of the following groups of genera are pollinated by the same agency

S0t TR0 D A © AN 28 BED VT VoY), RIFTER) TF(T DO Do) 0
BEE AR

Options :

Salvia. morus. enphorbia
F 8 oir, 076D, o0’ ByoI
1. % &)

Bombax. butea. bauhinia

D, LargEdasr. erer ol
2.

Triticum. cocos. Mangifera

- 838Dy, §'5°D, Arrefno®

Ficus. kigelha. casuarina

4w 28D, 58air, st

Question Number : 13 Question Id : 8135613213 Display Question Number : Yes Is Question
Mandatory : No

The book “Die Naturlichen Planzen familien’ was written by

‘8 SEDBD o8 DWDDD” B RS Brsos

Options :
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J. Hutchinson

I oo 29

1. ®

Englr and Prantl

5 o D06 208k ot

Benitham and Hooker

3 % ol Subodin 0sd

Theophrastus

4w BAFIT D

Question Number : 14 Question Id : 8135613214 Display Question Number : Yes Is Question

Mandatory : No
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Match the following Liliaceae members with their common names?

Column - I Column - IT
(a) Colchicum autunnale (1)  Spamsh dagger
(b) Dracaena aungusti folia (1) Sarsaparilla
(¢c) Yucca gloriosa (111) Medow saffron
(d) Smilax zeylanica (iv) Red dragon

B D83y BB Lotwor Ag o T Feron Tared Teyed?

MR -1 Dl - 11
(2) 5O o BODIO (1) Ay e(id
(b) o b ot (i) oI
(c) cdosm, fodire (1) E THI
(d) Q&wﬁb FerJs® (iv) O& &riie

Options :
1 % (a—i),(b—ii),(e—iii),(d —iv)

, % (a—ii),(b—iii),(c—i),(d—iv)
3 o (a—iii),(b—iv),(e—i) (d—ii)

4w (a—iii),(b—i),(c—ii),(d—iv)

Question Number : 15 Question Id : 8135613215 Display Question Number : Yes Is Question

Mandatory : No
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Meiosis can be observed mn
505050669 LTI ﬁ;ﬁ}:}c::‘.ncﬁg SEFEe

Options :
Tapetal cells
LI SETRD

Megaspores

LR S ren
o) o

Microspores
RArg) NG Deren

Spore mother cells

NG Dey ArSSETe
4.+ i@

Question Number : 16 Question Id : 8135613216 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the simplest amino acid?
208 T°6365° DOV 1S 3o

Options :
Alanine

| % ©OD

Asparagine

Eﬁj&l&l
2. ® =

3.¢
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Glycine

IS

LS.

Tvrosine

585D
Hﬂ_

Question Number : 17 Question Id : 8135613217 Display Question Number : Yes Is Question
Mandatory : No

Ribosomes were tirst observed by
065"V’ &0 DneLrT 083V TRDS

Options:
Robert Hook
U'*mg T0S

k. R. Porter
R.RJTQE

George Palade

2570 erd
3. % B

Raobert Brown

4 % T80 7'

Question Number : 18 Question Id : 8135613218 Display Question Number : Yes Is Question
Mandatory : No
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Ribosomes are found in the following organelles except

$06 DE) Q) SerorreeS” §ei’Jo e SAD

Options :
Chloroplasts

- texlolaTolrbiu) B!

Golgi apparatus

S v n‘*E :oogné':p

Mitochondria

- 205 erog,08T

Rough Endoplasinic Reticulum

HOOE) e90a30D GSrvo
4, % a =

Question Number : 19 Question Id : 8135613219 Display Question Number : Yes Is Question
Mandatory : No

Go through the sectional view of a

mitochondrion showing the different parts and

identify the structures A to E?

B3 My 2o8'arofatr Do’ A, B C.

D. E 30 28otsoc.?

Options :
1.
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A - Outer membrane, B - Inner membrane, C —Matrix. D - Infer membrane space. E - Crista

A-2000J6.  B-o0DTs  C-rgs. D-Tow e ard oddo. E-43

A — Quter membrane. B — Inner membrane, C — Inter membrane space. D —Matnx. E - Crista

LA ~ 20009 T8, B-o0d T, C - Jov 2d| 470 p&%0. D-2rgs. -8

A - Outer membrane, B — Inner membrane, C —Matrnix. D - Crista, E - Inter membrane space

L o A-2w0dde B-¢d6. C-arge D-&)  E-Jov g 79 Hiddo

A —Outer membrane, B — Inner membrane, C — Crista, D — Matrix, E — Inter membrane space

. A-2w0dJTs.  B-&0d T, C-82  D-ards, E-Jow g oo ddo
4, ®

Question Number : 20 Question Id : 8135613220 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Vascular Tissue Pattern

(a) Open (1)  Alternate on different radu

(b) Radial (i) Cambium in between Xylem & Phloem

(¢) Conjoint (111) Cambium absent

(d) Closed (1v) Xylem & Phloem on the same radius
306 T BBHGBG]

T Epereo o088 doeRo

(a) Dydo (i) D50d0, S m&%‘g‘vﬁg

(b) a‘g&go (il) @), s snrery Sod o")me;é e otitio

(¢) Roodng (iif) Dara] Seareo Lo

(d) odydo (iv) e, 08 searerd w8 T(do P 908 Gotdd
Options :

1 % (a—1i),(b—iv),(c—1),(d—1ii)

5 % (a—i),(b—i1),(e—iii), (d—iv)

3 % (a—iv),(b—1i),(c—11),(d—1)

4 v (a—ii),(b—i),(c—iv),(d—iii)

Question Number : 21 Question Id : 8135613221 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Assertion (A): Sieve mbe are enucleated cells
Reason (R): The functions of sieve mbes are controlled by Phloem Parenchyma
Qdydo (A): o) e Solds Giroren
600 (R): Tod 9o Deoend) TS S6ereoe Dobodoram)
Options :

Both A and R are correct
A 20803 R e Godr 230D

Both A and R are not correct

, % A D08ain R e Sor 200D 57

A 1s correct but R 1s wrong
3 v ARG/ 57 R D05

A 15 wrong but R 15 correct
A 2057 57 R 280G

Question Number : 22 Question Id : 8135613222 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column -1 Column - IT
(a) Protoxylem (1) Narrow sieve tubes
(b) Metaxylem (1) Larger sieve tubes
(¢) Protophloem (11) First formed xylem
(d) Metaphloem (1v) Xylem toward periphery
(v) Later formed xylem

Sof) TR DGt

adn -1 2t - 11
(2) DA THD) (i) @B ool Tvw
(b) @oddy TG (if) DG TV T

(¢) D6 g smereo (i) 20ee) D6YE Y

(d) eody T8 smareo (iv) 288 Y Ty

(V) S0 06 i

Options :
; « (a—iv),(b—iii),(e—ii),(d—i)

, x (a=v),(b—iv),(c—iii),(d—ii)

3 o (a—iii),(b—v),(e—1i),(d—ii)

4 % (a—i),(b—ii),(e—iii), (d—iv)

Question Number : 23 Question Id : 8135613223 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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Identify the incorrect statement of Bulliform cells
20dI6) SETUS VorioBe) VBAVDA S TS0

Options :
They are large. colorless

QD DED DAVCHD HY Gerdo

They are found on the adaxial epidermal cells

- EoL) (€ Svo DD LD 6 e’ Gotodd

They become flaccid leaves cur]l mwards

R 3650 BoAB DI S DYDY LVENE'D Sotodd

They are found in dicot leaves

4 o 3D B D2 Hores® Geco

Question Number : 24 Question Id : 8135613224 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Ecological succession can turn a lake mto a dryland forest with time.

Reason (R): A bare rock can become a forest through ecological succession

A3y80 (A): 508 Dotiodd B0SS" Eodd V20DOB 28 WERDY Y, SO0 LAY
w000 (R): 52308 dotod) BRSNS’ 28 A 0 w8 i) ST 76T P

Options :
Both A and R are correct and R is the correct explanation for A
| x A 0baiw R en Socr A0HD S0Boiw R @938 A S 20D DD0¢63
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Both A and R are correct and R 1s not correct explanation for A
A 8031 R e Godr DBID 570 R 938 A S 20 D566 576

A 15 correct but R 1s wrong

3 % A 28I 572 R b5

Both A and R are not correct
. A 00080 R e Totlr V0D 5T

Question Number : 25 Question Id : 8135613225 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Plant Adaptation Classified
(a) Salvinia (1) Long petiole (p) Submerged suspended
(b) Vallisneria (1) No contact with soil (q) Submerged rooted
(¢) Nymphaca (111) Contact with soil (1) Rooted floating leaves
(d) Utricularia (iv) Submergednotrooted | (s) Free floating
208 TN 2BIGB0G
) BRErVS0 Ss0m
(@) &0t (i) Tepdogdede | (p) Q0T A0S’ S, odveddo &)

b) 03Bt | (i) 0,088 oo B | (1) w86 Bod QPBT S S0IB

(¢) Dodosr (i) 40,08 dotiogo o | (1) 0860 B0 A 8T Hgren
(1v) S 200 6 _
(d) otriieygBosr (5) tp by 86
Uﬁ‘lSdE‘au B0t '
Options :
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1 % (a—i—p), (b—ii—s), (c—iii—q), (d—iv—r)
2.¢f{a—ii—s'}, (b—iii—gq), (c—i—r), (d—iv—1p)
3 & (a—ii—s), (b—i—r), (e—ili—gq), (d—iv—p)

4 » Ca—iv—r), (b—i—p), (e—iii—q), (d—ii—s)

Question Number : 26 Question Id : 8135613226 Display Question Number : Yes Is Question
Mandatory : No

Which theory explains ATP synthesis in chloroplasts and mitochondria?
0SGEDY) SBa3L Ei'STogoiree’ ATP DoFiesd DS bg"oﬂa Q7

Options :
Lipman and Lohmann theory
D200 2B SrD ~erodo

Lock and Key theory of Fisher

a0 E), TFo EDy — TVo Da) AT odho
2. % ®

Induced fir theory of Koshland

§aerob AB0E), *:aoc:.rgfa — D5 NTodho
3. % = @

Chemiosmotic theory of Mitchell

areres EEH&&eﬁé Horodho
4. = @

AP EAPCET 2021
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Question Number : 27 Question Id : 8135613227 Display Question Number : Yes Is Question
Mandatory : No

The physiological phenomenon which is considered as necessary evil in plants 1s

" 335200 dde” 6 HIF T3S ¢)ichato

Options :
Photosynthesis

- %69?35‘.!5:}5 DoairrSald

Respiration

_ ?“S*naé,o:b

Transpiration

3 ¢ wi’]ﬁ_‘«]@:}s@

Translocation

. x g*'z“oe:’edea

Question Number : 28 Question Id : 8135613228 Display Question Number : Yes Is Question
Mandatory : No
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(ilucose
(ArE's
eﬂn
: , |
Identify (a), (b), (c), (d) in the flow
chart anaerobic respiration? (c) (d)
NAD*
+
B BN OT 0 TR #NAD i’
~ NADH + H*
et (a), (1), 0), (d) oy NADH +
4 3-Phosphoglyceric acid Pyruvic acid
e 3Tgosewe  _XDSuio
- 2 NADH + H*
e
L
] / > D’
(b) (a) |+c0,
Options :

(a) - Lactic acid, (b) - Glyceraldshyde 3-Phosphate, (c) — Phosphoenol Pyruvic Acid. (d) - Ethanol
- (a) = &r88 &idvo, (b) ~ ngg’& 3 Sl“i):]ei (c) = ;}‘ﬁﬁhéam’i 26raS B, (d) = vad

(a) — Ethanol. (b) — Phosphoenol Pyruvic Acid. (c) — Glyceraldehyde 3-Phosphate. (d) — Lactic acid
. (a) ~ 2679 (b) — T8 6rd8 . (¢) - Barrdid 3- I8, (d) - erg8 e

(a) — Phosphoenol Pyruvic Acid. (b) — Ethanol. (c) — Lactic acid. (d) - Glyceraldehyde 3-Phosphate
- (a) = &ﬁﬁjéwﬁ 2UraS 8o (b) —+ 968, () - &85 Bavo. (d) - Qau*@;;“& 3 3“33395

(a) — Glyceraldehyde 3-Phosphate, (b) — Lactic acid. (c) — Phosphoenol Pyruvic Acid, (d) — Ethanol

L (a) - o dirds 3- 3y, (b) — &8 esivo. (¢) - TS P6rD8 e, (d) -+ T®

Question Number : 29 Question Id : 8135613229 Display Question Number : Yes Is Question
Mandatory : No
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Which one has more free energy?

DOS* DB LS DY 8D €A Gotwod?

Options:
Reactants
SoiT"23 5 e

Transition state of reactants

SairadsTe S5 HDOIGH S
2. ¢ -

Products
aﬂ“_)ﬁh@“m

Active site of enzvime
DoZ 03w Fdo

Question Number : 30 Question Id : 8135613230 Display Question Number : Yes Is Question
Mandatory : No

Fermentation differs with aerobic respiration except one in the following?

$eagdo. TOK0 DI TRS0DS S0 Diaaness” DO DeIBorso?

Options :
Partial breakdown of glucose

ArEE Lo DEF o

1. %

Net gamn is 2 ATP
2 ATP e 96468
%
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NADH oxidation is slow
NADH uéﬁsm D) BT 26

Glucose degrades mto CO, & H,0
Y (°88 €Oy & Ho0 1 DA

Question Number : 31 Question Id : 8135613231 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Removal of shoot fip increases apical donunance

Reason (R): Due to accumulation of auxin in lateral parts, growth 1s mlubited

Q330 (A): D5eeS I SVAY STRS[S DOMSE
600 (R): 36 A TrRS” 88100 Dorabde S DS IFGorsecdRE

Options :
Both A and R are correct and R is the correct explanation for A

| % A So8ain R e Gottr 20 <0B8oiw R 0938 A S D0 D660

Both A and R are correct and R 1s not correct explanation for A

5 % A 8030 R e Godr 200 572 R 038 A S 20 D568 5°c0

A 1s correct but R 18 wrong

3 % A DGRAIG 57 R DO

Both A and R are not correct
4 A 208030 R e Todr 280 5°)

Question Number : 32 Question Id : 8135613232 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

Select incorrect pair with hormone and function?

S8 doew, 78 DEVLD VotoBod VBADLAD 28 577

Options :
Auxin induces parthenocarpy

uéba‘n:r DS DVTI) 2020t

Gibberellin induces bolting

2e22,089e0 &5"Dof DBDotA

Ethylene respiratory climactic

dBDS T Piair 35088

Cytokinin induces apical dominance

J_ RETIDL TrAS(S B0t
4.

Question Number : 33 Question Id : 8135613233 Display Question Number : Yes Is Question
Mandatory : No

Mutation was first observed in

S81\0 DERADR0 DVEST BT A0DoDE?

Options :
Pisum sattvom

R S ERE

Snapdragon
T DEAD
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Lens culinaris

3 % 55.3 D=0

Oenothera Lamarekiana

4w £H560 =507 OXoe

Question Number : 34 Question Id : 8135613234 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

AP EAPCET 2021

Column I

Column 11

(a) T.H. Morgan

(1) Chromosome theory

(b) Hugo Devries

(1) Gene mapping

(¢c) Sutton and Bover

(i) Linkage

(d) Alfred Sturtevant

(1v) Mutation

(v) Hybrid experiments

S0 TN aBHGGC.?

SR

o - 11

(a) T.H arg“fa

(i) Saré iﬁg"mjo

(b) ::w5ﬁ“ GOR

(11) ae«tué Do

(c) :J%}Jb & &0

(111) mfmvﬁla

(d) esg 3& '{39};‘*0&5

(iv) &e\836%0

(v) oS08 DOPMTEN

Options :

1 % (a—wv),(b—iii),(e—i),(d—iv)
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, » (a—iii),(b—iv),(c—i),(d—ii)

3 % (a—i),(b—ii),(e—iii),(d—v)

4 % Ca—iv),(b—i),(e—ii), (d—iii)

Question Number : 35 Question Id : 8135613235 Display Question Number : Yes Is Question
Mandatory : No

A molecule that can act as a genetic material must fulfil the following criteria except

WS BEVR) 2] DEGorr :)Tgéf’anﬂocs'mej & 26).9) Dirarels” w8 TS Dotloto
ge. b

Options :
Able to generate 1ts replica

285D Bord eotd

Should not be stable structurally

BERD o720 5O otd
2. @ o

Provide scope for slow changes

Do) B 280 0V VIS B0 Eot®

Able to express itself in form of mendelian character

ol HoHd sevsrenT 28 DO\

Question Number : 36 Question Id : 8135613236 Display Question Number : Yes Is Question
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Mandatory : No

The first restriction endonuclease
D0LGE BhED ;)o&.“aqécfi:é
23 E L

Options :
1. % EcoRI

>  Hind II
3 % Sall

4. % Pru Il

Question Number : 37 Question Id : 8135613237 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Flavr savr a transgenic tomato which remains fresh and retains their flavour for ling time

Reason (R): Production of polyzalacturonase enzyme. which degrades pectin 1s blocked m Flavr savr
Adydo (4): F96 36 2] D008 LATEr, 96 T Gotddod, I8 S0 609 <9 Eotnod
S0 (R): D35 Briesdy FHrosBaE doa ed\d 56 2356 A Boistacood
Options :

Both A and R are correct and R is the correct explanation for A
1 & A 08030 R e Godar D0RD H00ain R 938 A 8 20D D066

Both A and R are correct and R 1s not correct explanation for A
, A 28030 R e Godr 00D 5720 R 938 A S 202 D66 5°¢

A 15 correct but R 1s wrong

5 % ARPIB 520 R D85
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A 1s wrong but R 15 correct

4 % A 2057 57 R 20HG

Question Number : 38 Question Id : 8135613238 Display Question Number : Yes Is Question
Mandatory : No

Consider the following statements about therapeutic drugs. Which of the statements given below are correct?
(1)  The recombimant DNA technology 15 used for production of therapeutic dmgs which are safe and effective
() It avoids unwanted immunological responses, comimonly observed with similar produets isolated from
nor-human sources

(1) About thirty recombinant therapeutics have been approved for human use n the world including India

Déory D T (ool dod Héidurd 2638oisod. $oi atdyd TBE* DB 13 s
() D30 derd Bamw 6938 fdidyciras DNA Fe3088 &OGF AT

(i) 20 ArIS86 ArTrY Aot DAXIODEIGD 60\T)0 3T SE0E B0 SRS CRVTWIN

DBa0i)
(i) 2PGdBH0d 12 Hdotiod” 0iamth 30 Yeivyodiras Déery ey Ardw Edo
um"&oﬁm%:“w
Options :

(i) & (ii)only
e (1) & (ii) ared

(i) & (iii) only
5, » (1) & (iil) J0°830

(ii) & (iii) enly
Ly (i) & (iii) Srgd

4w (i), (ii) & (iii)
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Question Number : 39 Question Id : 8135613239 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Broremediation 1s the use of microbes to remove toxic substances

Reason (R): Certain microbes are present naturally in the sewage which help in sewage treatment

Qdydo (4): m@mm &aairfow) DRRPOSA b&gvm S 0fotitiodd L)AIrGGAraN Wotrd
S0 (R): §9) Arg) S0 iz antr 6" dod andxy 98 206 dofiod” ey

Options:
A 1s correct but R 1s wrong
1 % A RDHG 57 R b5~

A 1s wrong but R 15 correct
A 2057 57 R 20HG

Both A and R are correct

3 @ A S08ain R ew Toir R5H0D

Both A and R are not correct
A S08ain R e Todir DJRD 57w

Question Number : 40 Question Id : 8135613240 Display Question Number : Yes Is Question
Mandatory : No

The purpose of biological treatment of waste water 1s to

AN dg), BITR Do IS Harado?
Options :
1.¢
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Reduce BOD
BOD @ﬁ‘@.}oﬁ

Increase BOD
> % BOD 2 otediod

Reduce sedimentation
. ey T b éﬁ@n&:

Increase sedimentation
9D EHDA Dotrehdod

4. %

Zoology
SectionId: 81356172
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135613241 Display Question Number : Yes Is Question
Mandatory : No

The third name in trinomial nomenclature is

ST TWE6EHS” AFES Do B DG FR008?

Options:
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Subgenus
G DIPH

Species

Ecotype
gy
2E'ES

Sub species

4 &) 27

Question Number : 42 Question Id : 8135613242 Display Question Number : Yes Is Question
Mandatory : No

Two animals belong to the same Kingdom but different classes. They may belong to the same
B0t 20800 28 T o' S DT Boddd. 6 28 65 £ Boddidy.

Options :
Species

1$ea=@

Phyium

Z.Jb{gn

Division

3 % a2 o

Order

4%5,;1}::
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Question Number : 43 Question Id : 8135613243 Display Question Number : Yes Is Question
Mandatory : No

All the species of a genus possess the same
28 PSS v B AV 2,8 CSID s &otrow.

Options:
Genetics

1 % a.méa‘;)w

Anatomy
woej&ltr“é’mo

Ancestory

- £8) o NEVIY

Karvotype
£arE Ao DYErdoe
4, %

Question Number : 44 Question Id : 8135613244 Display Question Number : Yes Is Question
Mandatory : No

Coelomate animal where Blastopore develops into anus is
8o UG’ 498 tod Gogdo (erY'D'6) FoLOYT ©D9)8 Bod 300850 en

Options :
Deuterostomate
- &agém:i:: S0PTEERD (@5&55}?3}&3)
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Blastosomate

I g0e

Protostomate

F6s dwagrden (S Y0)

Blastomere

4w gg“gé’lmmﬁ

Question Number : 45 Question Id : 8135613245 Display Question Number : Yes Is Question
Mandatory : No

Triploblastic animals have primarily
BB By FEAEorr D €dAcotran?

Options :

True coelom
. Dz 366 6o

Sexual dimorphism

Dol DBGDe

Bilateral symmetry

_— &53.!"’6;5 ﬂ“ﬁ&;ﬁn

High regeneration power
OBBS DIDSE 23S
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Question Number : 46 Question Id : 8135613246 Display Question Number : Yes Is Question
Mandatory : No

Cold blooded animals fall under the category of

20 6 2odPew $08 TES° B Sod SFaw?

Options :

Endotherms

ﬁcv‘.’ﬂﬁﬁ‘g LHew

Thermophiles
a@?@ LaHew

Ectotherms

- eI [ 2w

Psychrotherms

4, ® }3‘555&3

Question Number : 47 Question Id : 8135613247 Display Question Number : Yes Is Question
Mandatory : No

Which of the following features is not present in the phylum *Arthropoda’
308 TeeheS’ ugﬁ“::“ ©&60 5200

Options :
Metamorphic segmentation

Ao QKFS?O::
1. k3 1

Chitinous exoskeleton
=] :}a&e:a wﬁéhﬁoadc
2. ® % o
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Jointed appendages
4y DA edrorren
3. %

Parapodia

y v 5“6;5 Jroren

Question Number : 48 Question Id : 8135613248 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a characteristic feature of sponges?
$08 T°0Y" VyoBSL VL0 TTIO?

Options :
Cellular level of organization

ge3 Ara) aéa?asaea
1. k=3 @ o

Body supported by chitin
, v 58S vErds dro

Intracellular digestion
SeTodd 030D
£ ® £

Presence of ostia

Srer{B0ETe SRt
4, %

Question Number : 49 Question Id : 8135613249 Display Question Number : Yes Is Question
Mandatory : No
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‘Lasso’ 15 a structure found

‘e 9D oyt JF) 6 SIADRE?

Options:
Nutritive muscular cell
1 % Vs ottt 0o

Epithelial nmscular cell
. GRSY® Sokl SMo

Nematoblasts
Qe

Nerve cell
4 % TS0

Question Number : 50 Question Id : 8135613250 Display Question Number : Yes Is Question
Mandatory : No

‘Dicondylic skull® is characteristic features of

‘G5 oz 8 N3 2 2o s, wLeo?

Options :

Reptilia and Aves
|« POYTeL MBain DLW

Amphibia and Reptilia
EZ50305T"e SoBosw DOXTen

Aves and Mammals

5 x DEO 2BOKD LT
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Amphibia and Manunalia

4 SBONTTED O oo

Question Number : 51 Question Id : 8135613251 Display Question Number : Yes Is Question
Mandatory : No

Larva of Balanoglossus is

S0 TDS" BOSTRD AANE), T

Options:
Tadpole
&S

1. %

Tormnaria

5> E:Fﬁlﬁﬂ‘.‘ﬁ"

Muller's larva

- ;:u.)ggﬁh T

Valrus larva
T506 T

Question Number : 52 Question Id : 8135613252 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to caudal fins of fiches

Types of caudal fins Character Example

a) Homocercal i) asymmefrical both externally p) Shatk
and mternally

b) Diphycercal i1) vertebral column extends info q) Flymg fish
the larger ventral lobe

¢) Heterocercal i) symmetrical externally and r) Catla
asymmetrical internally

d) Hypocercal 1v) symmetrical both externally s) Latimeria
and mternally

B0 P TETVR) Rotiobow) Sod VLTV 2BDGDE

DT GSo vio = apesl]

a) AP ) Lrgdorr, Goddderr p) a6,
D T&o BT RO GotPaN

b) %Dz i) $3dsocio DYAMT &R) 606 q) JAB B
ey TR0 06’8 DB

¢) ddvard iii) ererjorr ﬂ“u@}bo, odddorr 1) 6By
DehyTR0 wil"%z:)o

d) :.gnﬁﬁf’odbﬁ 1V) EPP{orT, Sodddorrad 3"5.3;% s) erthndair

Options :

1 % (a—iv—r),(b—iii—s),(c—ii—p),(d—i—q)
2 (a—iii—r1),(b—iv—s),(c—i—p),(d—ii—q)
3% (a—iv—r),(b—iii—s) (e—i—p) (d—ii—q)

4 % (a—iwv—s),(b—iii—r),(e—ii—p),(d—i—q)

Question Number : 53 Question Id : 8135613253 Display Question Number : Yes Is Question
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Mandatory : No

Assertion (A): Symmetrogenic binary fission takes place in paramecium

Reason (R): The cytopharynx of the parent 1s retained by the proter

TGS (A): DOWROHG DR 'S BEING 2EMBE
6o (R): 06 3 £D ool S8R Tocedood

Options:
Both A and R are correct and R 1s the correct explanation of A
A S0bas R e Godir 06 20000, R 2998 A § 2deond o6

Both A and R are correct and R 1s not the correct explanation of A
A 08ci0 R o0 o 0 9000, R 0938 A § 2000 25066 570

Both A and R are wrong
A SBain R e Godsr 280 S°)

A 15 wrong but R 1s correct

A D857 570 R 006
4. =

Question Number : 54 Question Id : 8135613254 Display Question Number : Yes Is Question

Mandatory : No
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Matcl the following related to evolution of Pseudopodia?

List I List IT List I1I
i)  Lobopodia a) Netf-like p) Actinophrys
it) Filopodia b) Sun ray-like q Elphidmm
ii) Retuculopodia ¢) Bluat finger like 1) Euglypha
1v)  Axopodia d) Fibre-like s) Entameoba

$od 605 &Jr;réé}’m"m (0808) B AATETTVE Erdd $VoNEVH Jods Botel?

'DE.;JI U;EH !}F.g I
) S'EDeowr a) PV E50o P R$I9D
i) S5 b) g 46t erol Q) dydase
i) oS T Dot ¢) g Hderodd 1) odrnar
iv) F ﬁaﬁnﬁr d) BodolrDd 5) otader

Options :
_— (i—c—r),(ii—a—s),(ii—d—q),(iv—b—p)

, % (i—e—s),(ii—a—r),(iii—d—q),(iv-b—p)

;o (i—c—s),(ii—d—r),(iii—a—q),(iv—b—p)

4 x (i—c—s),(ii—d—q),(iii—d—r),(iv—b—p)

Question Number : 55 Question Id : 8135613255 Display Question Number : Yes Is Question

Mandatory : No
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The interval between the first entry of plasmodium into the blood of man in the form of

sporozoites and its second entry in the form of cryptozoites is called

ZJ Gobo PR TGt drded” Al 65085°AS DTN
Go&i0 T apantn G50’ B8 SO D Fvo

Options:

Incubation period
| % F6f swo

Latent period
, 5 O0t5 HBADE

Prepatent period
3 ¢ 23085 SP00

Window perniod
4 % Do DBODE

Question Number : 56 Question Id : 8135613256 Display Question Number : Yes Is Question
Mandatory : No

Homione produced against allergic reaction is
DOTE) S DOV H(HOSOIT SiNG Bobecd ::5515

Options :
Glucocorticoid
Ars el gl VTN

% o £

Mineralo corticoid

Dadces” 505 006
2. ® o
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Nor-epinephrine

L TEIDIVD

Epineplirine

4V DD

Question Number : 57 Question Id : 8135613257 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statements are correct related to Entamoeba histolytica?
1) Trophozoite is most active. motile. feeding and pathogenic
11) Presence of ‘RBC in food vacuoles™ & cartwheel shaped nucleus are the features of frophozoite
if) Precystic stage is the pathogenic stage of Entamoeba
iv) The trophozoites ‘dissolve” the mucosal lining by histalysin and cause ulcers

v) Tetra nucleate cyst of Entamoeba lustolytica are infective to female culex

dotoer B85S dotsoBol) Sofd O pEise 23’
i) Tis 63 oror @, BB g bty TIASEE B3, A M FKRo,
3y 2008 AF08
ii) e52t0 466" RBC &otitio, ol tigo erot) Segido Gotiio Tag £ rhow) vgrre
il QPOEsR 5% 740 Ood Dot CR0E), (5%
iv) Jg dipen RS & Fy o) 860l Yogy I6yGoRo
V) dobidoer B dig) S8y 08 §o ek Sr(O8, B Dogood 58

Options :

Except (iii ) and ( v ) all are correct
- (1ii ) 080t (v ) Sy, 0HDH E"b.l 0.

Only (i) and ( ii ) are correct
) Sdhewo (1) 8ot (i) Srdd DoRD.
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Except ( v). all are correct

(v) 82y, ADID 89y DTHD.

3. %

Except ((iii ). all are correct

, (i) 8y, DoABSD Ry BB,

Question Number : 58 Question Id : 8135613258 Display Question Number : Yes Is Question
Mandatory : No

In cockroacli. the oothecae are formed by secretion of
5°B08 Dotk LEE e D Foren FI5® S0 BALFEHI?

Options :

Collaterial gland

- EerB00e (fodoew

Mushroom gland
DD 576 God

Phallic gland
28 fod

Conglobate gland

4 % E'"ﬂff £38 (lod

Question Number : 59 Question Id : 8135613259 Display Question Number : Yes Is Question
Mandatory : No
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In the given diagram of ommatidium of cockroach. Identity the
parts labelled 1, 2, 3,4, 5, 6 and select the correct option?

& Sotd 'Easmdé & gos AT 0% DLAVJM 1,2,3,4,5,6

TR WBow) DTN RAFE RSN doas Bekod.”

AP EAPCET 2021

Options:

4.+

| - Cone, 2 - Corneagen cells. 3 — Comea. 4 - Retinal pigmental sheath. 5 — Rhabdome, 6 Nerve fibers
| - Foanay). 2 - 0gH0S" TGS ST, 3 - g0, 4 - G 368 SO, 5 - D068 Gotéo,

6- :J"fie:&ommm

1 - Comea. 2 - Comeagen cells. 3 - Cone, 4 - Retinal pigmental sheath. 5 —Nerve fibers. 6 — Rhabdome
1 - 80gtwe, 2 - 206y de Sme, 3 - Jo, 4- 300 308 Scorb, 5 - TededrPen

6— 2068 Botio

| —Cornea, 2 Cone, 3 — Comeagen cells. 4 - Retinal pigmental sheath, 5 - Nerve fibers, 6 - Rhabdome
| - 308000, 1 - 20, 3 - %\Jg;'ae.)é*@"_)c’as Sere0, 4 - Jgte 368 FED. § - TESodoen,

6 —DTA6S Gotio

| - Cornea, 2 - Comeagen cells. 3 - Cone. 4 - Retinal pigmental sheath. 3 — Rhabdome. 6 — Nerve fibers
| - %0gdteo. 2 - g’ T8 SEren. 3 - oana). 4 - Agbw el 8¢, 5 - Domdds Botio,

6 - TC oS00
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Question Number : 60 Question Id : 8135613260 Display Question Number : Yes Is Question
Mandatory : No

Which branch of ecology deals with the study of changes n population sizes (population
dynamics) over a period of time?

8 84 oot 2T H8ArRe (2 ddddus) o 207 A7 EOR 2 éa"adea?g
T DHB006?

Options :

Population Ecology
PR e&m;ﬁtjm?““go

Autecology
) ¢ VOS2

Synecology
DITOVD

Statical ecology
Fro(S BT DT R0

Question Number : 61 Question Id : 8135613261 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s the way to control vehicular air pollution in Indian cities?
& Sofd TIE" 3 (o 2068 AfoY’ T 0 08 D sendr(dy) JaoGoudidy !

Options :

Use of unleaded petrol or CNG as fuel

- R0 G D80 Tt T CNG Qod&orT JP¢tio
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Increase the production of vehicles
TTTL &G Dotdto

Cut down all the plantations

3 % DL VDV HBSDaDEo

Never use any petrol or diesel vehicles

. 25’0 Sor Aaed TrirTren e TEsd Sk

Question Number : 62 Question Id : 8135613262 Display Question Number : Yes Is Question
Mandatory : No

Secondary productivity is the rate of formation of new organic matter by
80D GomBSaT §8 86,9 ooy D603

Options :
Parasites

| x DO 2aHew

Consumers

> QDO AT EeD

Producers

3 % SO\ ST den

Decomposers
n DIy STEIRD

Question Number : 63 Question Id : 8135613263 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?

List I List IT
i) Euryhaline a) Tolerant to wide range of temperatures
i)  Stenohaline b) Restricted to a narrow range of temperature
ui) Eurythermal ¢) Tolerant to wide range of salmity
iv)  Stenothermal d) Restricted to a narrow range of salinity
So8 TR BBDOWE?
953 1 El.fg II
) Tps 030008 2) o308 e Ardwio dE e
i) 2o vScad b) oy ade ardywio SEado
i) CfrBe6)S Q) edyee LITADT" Sr6y0R) BewE Do
iv) DS6HS d) #wy Ldtabor Srdyws 8en8'ddo

Options :
1 % (i—a), (ii—b), (li—c)&(iv—d)

, v (i—e), (ii—d), (iii—a)&(iv—b)

L« (i—e), (ii—b),(ii—a)&(iv—d)

4« (i—a), (ii—d), (iii—c)&(iv—b)

Question Number : 64 Question Id : 8135613264 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Ammora is first oxadized to nitrites by Nitrosomonas bacterium

Reason (R): Nitrites are further oxidized to nitrates with help of Nitrosococus bacterium

TG (A): e HEVIrTS ergbatr 6] o e Jatr 68460 Sod PRSLAT Srdded
w60 (R): DEFVEED &3 wsbair wiFaed 08500 309y 58500 308 D Areidood

Options :
Both A and R are correct and R 1s the correct explanation of A
A 8030 R a0 Sodr 28 00D, R 938 A & HDdesonsd DD

Both A and R are correct and R 1s not the correct explanation of A
A S08ci0 R en Todr R0 9000, R @938 A § 280w D506 ST

A 1s correct but R 1s wrong

3 @ A DI 572 R 2z

A is wrong but R 1s correct
A D857 57 R 25HS

Question Number : 65 Question Id : 8135613265 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements are true related to ecology? The correct statements
i) Ecologically. habitat is the place in which an organism lives
i1) Niche is the functional role of an organism in an ecosystem

ii1) Population is a group of organisms of the different species m a specific area at a specific time
1v) An ecosystem is a functional unit of the biosphere

v) Ecological organization consists of mne integrative levels. ranging from cell to ecosphere
BI0RTT RS Rotlofor) $0B 2 HELNLD AT

1) dTdon 8 Ddor BP0 SR w8 hgej JoTR) TR0 otrdd

il) 28 Rracs’ ey Ao(red Saird)s e I Yotrdd

iii) ng;o@a SO 32@ 08’ God D) AW Bodd &YV VAFFY) aTer
80t

iv) &F568 SR 29fvo g Soird) S Do
v) Sdom ;ﬁ}g;ﬁ%ﬂdmé" &30 Avod) @8 D06 S6% & h)éc?: R gﬂcmm 6 O
Options :

All are correct
| % B DsLDW 0DD.

Except ( iii ). all are correct

, w (i) 3y, ADDD 6 BTHD.

Except ( v). all are correct

Ly (V) 8Dy, 0ABRD e RTHD.

Except (iii ) and ( v) all are correct
(i) 308080 (v) &2, DAV oy HTHD.

Question Number : 66 Question Id : 8135613266 Display Question Number : Yes Is Question
Mandatory : No
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In lungs. the air is separated from the venous blood through
&12388¢00 Dot T B T DT" BFo Aol DEDBTIRICIN?

Options :

Squamous epithelium + Tunica media of blood vessels
V)0 SOEY T 05T Fo Q) G[SotuSo

Squamons epithelinm + Transitional epithelinm
IO GDEY + DBDER &DSY

Squamous epithelinm +~ Endothelium of blood vessels

5 v VO SISV + SETV R Dol &dodo (9086000)

Transitional epithelinm + Tunica externa of blood vessels

4 % DOJOR GDEF + OST"Fo AAVS), EJ“:J"TSSmﬁJSo

Question Number : 67 Question Id : 8135613267 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The eutrophication of water is attributed to nitrates and phosphates

Reason (R): They are the chief plant nutrients

TEH (A): NS AlargHERS 20666DS SR G Wbak Fyy swasd
560 (R): 93 Ho@d 98 Tdsew

Options:

Both A and R are correct and R 1s the correct explanation of A

| % A S8k R e Godtyr 20 200350, R 09238 A & 200 a5060m

Both A and R are correct and R 1s not the correct explanation of A

5 A 8050 R e Godr 28 220053, R 936 A & H8e9008 D06 520
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A is correct but R 1s wrong
A 2006 57 R RO

A 15 wrong but R 1s correct
A D050 570 R 2006

Question Number : 68 Question Id : 8135613268 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is not normally excreted in urine?

08 T0S° DA FTeGLoT LTS oo :}mgmﬁmam?

Options :
Haemoglobin

| TTHDS

Uric acid
cdoe8S esav0

Ketone bodies

265°S Sofen
3. %

Hippuric acid

4 % TR0 0

Question Number : 69 Question Id : 8135613269 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

List 1 List II
1) Fishes a) Incompletely divided ventricle
i) Reptiha b) Branchial heart
i) Amphibia ¢) Incomplete double circulation
iv) Mammalia d) Four chambered heart
S0l T8I 28D0eC”
B31 Bp Il
1) Bhew a) L8t DB DodD 2604
i) PRy b) TR ydobo
i) &Hoddoen ¢) BRPY GGy RGN
iv) &6oren d) 4 6w TyGabe

Options :
1w (i=b),(ii—a),(ili—c)&(iv—d)

, % (i—e¢),(ii—b),(ili—a)&(iv—d)
3« (i—b),(ii—d),(ili—c)&(iv—a)
4 % (i=b),(li—¢),(ili—a)&(iv—d)

Question Number : 70 Question Id : 8135613270 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to nephrons?

Character Cortical Nephrons Juxtamedullary Nephrons
i) Number a) Absent or reduced p) Well developed
ii) Loop of Henle b) Very little into medulla q) Fewer
i) Loop of Henle extends ¢) Majority r) Long

1v) Vasa recta

d) Short

s) Degp into the medulla

BRI RotioBot) S8 TE BEHGH6E”

V&0 300 g a5y 0t0 AT
i) Roa 1) G8ado Uy deboitio | p) P D)@ B0l
ﬂJZPQQ%o b) %8 §6 erto Q) AWy
TN 30 Ko ¢) ©6g 1) JeHm
i) T 0F° d) Dy ) caEobs
Options :

1 % (i—e—q), (ii—a—p), (iii—d-r), (iv—b—s)

5 % (i—e—q), (ii—d—1r), (ii—a—p), (iv—b—s)

;o (i—e—q), (ii—d—r), (ili—b—s), (iv—a—p)

4 % (i—e—r), (ii—d—q), (li—b—5s), (iv—a—p)

Question Number : 71 Question Id : 8135613271 Display Question Number : Yes Is Question

Mandatory : No

It 1s much easier for a small animal to run uphill than for a large animal. because

0F) 2odYw OF 28PN ST) RV A HBTVS HONSVY. B3 v 680

AP EAPCET 2021




AP EAPCET 2021

Options:
Smaller amimals have a higher metabolic rate

- Dy wodoNHweS® s EH303 Fe SV

Smaller animals have a lower 0, requirement

- DR RodVHVE) B D 85 BD BSV0o B

It 1s easier to carry a small body weight
. B8, D BT Y Qahite o

The efficiency of muscles in large animals 1s less than the small animals

n .xg 2oV Sokd &mggm fﬁ*"; 2080:)0 Sof) D),

Question Number : 72 Question Id : 8135613272 Display Question Number : Yes Is Question
Mandatory : No
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Match the following about cranial nerves and choose correct combination?

Cranial nerve Structure
i) Oculomotor a) Superior oblique muscle
i) Abducens b) Lateral rectus muscle
i) Optic ¢) Inferior ablique
iv) Pathetic d) Superior rectus muscle
e} Retma of eye

STOT VL DotloBot) §od T BB WBH AATT M) Jog Boded?

go Té Do) 0
) ddob oreg 2) & O3 Socido
i) eBRDy b) a-'d;,b 202 S0tdo
iii) ¢yed c) Q) BAIN
Iv) e9d0zrd d) &agﬁ a0 Sotido
g) Sot3eS’D B

Options :
% (i—e), (ii—d),(iii—a),(iv—b)

, » (i—d),(ii—b),(iii—e),(iv—a)
3 # (i—c),(ii—d),(iii—a) (iv—e)

4 % (i—b),(ii—c),(ili—d),(iv—a)

Question Number : 73 Question Id : 8135613273 Display Question Number : Yes Is Question
Mandatory : No
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On the basis of heavy chains immunoglobulins are classified into how many types?
erofienioe Joj ko BederT 'a.:!m}gs fjm&&% O A CsrT ;ﬁ%ﬁ&oﬁ“m?

Options :
1% 4

3.9

4. %

Question Number : 74 Question Id : 8135613274 Display Question Number : Yes Is Question
Mandatory : No

Recognize the figure and find out the correct matching related to
location of endocrine glands?

oD% (Jocdow %"R’Jué&b AotioBotdd DD HBot)

PO S Hod?

Options :

1 — Pituitary, 2 — Thyroid. 3 — Adrenal. 4 - Pancreas, § — Testis. 6 — Ovaries
- | - 0kariy ol 2 — Borand: (108, 3 — 0iyS) ol 4 - § oo, § — and) 0. 6 - i‘g DasTw

2. &
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1 - Pituitary. 2 - Thyroid, 3 - Pancreas. 4 — Adrenal. 5 - Testis, 6 — Ovaries
1 - Dot flofd. 2 - BTawé foB. 3 — Eddo. 4 - 0BZE) (o, § — A0, 6 -fg DasTe

| — Thyroid. 2 - Pituitary, 3 — Pancreas, 4 — Adrenal. § — Testis. 6 — Ovaries
, | -8t dod.2 - 0D o, 3 — §300. 4 — § oo 0BG G0 § - A0 L0, 6 -;‘3 DafTw

| - Pitwtary. 2 — Thyroid. 3 - Pancreas. 4 — Adrenal. 5 — Ovanes. 6 — Testis
. | — 050733 (0B 2 — P o8, 3 — Eadvo. 4 —0B3E) God. 5 - é DT, 6 - Andy e

Question Number : 75 Question Id : 8135613275 Display Question Number : Yes Is Question
Mandatory : No

At what stage of life 1s oogenesis imitiated 11 a uman female?

TR E}Ufeﬁ'ﬁ 0NN B ADd0s” D 3885° JrGotraaRn?

Options :

During menarche
G230 RS’

During menopause
oty DG DVoIes

During birth

&U&cﬁ}é Hanaiees”

During embryonic development
bac“i_);ﬁ;,g 200005

Question Number : 76 Question Id : 8135613276 Display Question Number : Yes Is Question
AP EAPCET 2021
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Mandatory : No

Match the following?

Column I Column II
1) Male reproductive organ a) Semen
i) Site of sperm maturation and storage b) Seminiferous fubules
i) Unit of testis ¢) Testis
o S i | st

Sod ShHw BdH6PE]
Eo1 Eo 11
) i HAxSS L3030 2) #ogo

1) HOSSETen 20s 0 Ao 2)05

b) #ETryce TP
&otd) DB

i) sy, DT ¢) Ewar)en

Iv) BOESETON B 288 FT VR

d) JEEDLR
<A gol :Jm“go

Options :
1 % (i—e),(ii—a),(iii—b),(iv—d)

5« (i—a),(ii—b),(ii—c),(iv—d)
3 v (i—¢),(ii—d),(iii—b),(iv—a)

4% (i—d), (ii—c),(iii—a),(iv—b)

Question Number : 77 Question Id : 8135613277 Display Question Number : Yes Is Question

AP EAPCET 2021



AP EAPCET 2021

Mandatory : No
‘PMS” stands for

‘PMS’ e

Options :
Primary Micro Sporogenesis
Db F F\FEIDD

Premature Menstrual Syndrome

. 26 ARNDS Do
2. e

Primary Menstrual Syndrome

208 Dd0k0H Dol oo
3.8 © 2

Pre-Menstrual Syndrome

2 2RAVDS Dol o
4.9 e

Question Number : 78 Question Id : 8135613278 Display Question Number : Yes Is Question
Mandatory : No

ZZ [ ZW tvpe of sex determunation is seen in
ZZ | W 680 Dot Dg"ﬁm S0 T°8e5° BAADE SVHeB?

Options :
Platypus

- FEDD

Peacock
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Snails
Rden

Cockroach

85" &o8
4. ® G

Question Number : 79 Question Id : 8135613279 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

ListI ListIT

, ' a) Inaheterozygous organism both alleles express themselves
1) Plelotropy

fully
i) Epistasis b) Many genes govemns a single charactar
iif) Incomplefe dominance ¢) A single gene mflnences many characters
iv) Polyeenic inheritance d) One gene influences the expression of other gene

o ¢) Heterozygote in intermediate between homozygous
v) Co-dominance

phenotypes
808 T8 28368E?
1 Vs3I
1) Diyookour) E8" o aurf, ey Q8T Higo
) SergD : x
wXGo.
1) JOYRY b) &8 e &8 vt & HErdde Bokdo.
i) R0 LIPS S0 0) 8 3R BIS VPO Pirddo Bab(to.
V) LY 2R VR d) w8 2RV RS0 BV aﬁswm pTde Sabico.
¢) ot i ardds Dadvatls RO
V) R Lirdde ?
" Gobhod.

Options:
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1w (i—e),(ii—d),(iii—e),(iv—>),(v—a)
> % (i—b),(ii—a),(iii—d),(iv—c),(v—e)

3 % (i—b),(ii—d),(ili—a),(iv—c),(v—e)

4 % (i—¢),(ii—a),(iii—e),(iv—b),(v—d)

Question Number : 80 Question Id : 8135613280 Display Question Number : Yes Is Question
Mandatory : No
Study the following related to “Cancer’. The correct statements are
i) Normal cells are jomed by intercellular adhesion proteins called ‘Cadherins” and they are missing in
cancer cells
ii) The protein P** plays an important role with reference fo the ‘G1 check point” in the regulation of
cell division cycle
1) Cancer cells shows a phenomenon called *Contact mhibition”
iv) Malignant is harmless cancer
v) The retinoblastoma protein p*® is a “tumor suppression’ protein that is dysfunctional in several

Illﬂjﬁl’ Cancers

5,6 § dotofol)d $0d T tesdod. 13 MATTHER dons Bbod?
) orom dren vodddn B JER0H 3665 o8 vagucaron, 590 sred” ) §airon.
) Seadafed wgo dadvogad’, P TS G1 838D Docord) 3¢ 67 V08" D 19 Sried.
f) 56 70 \0) B o &3 )R8 D0 ;Q“n:m
1v) &8y off FATA 5796
v) P o8 erfar TS 4o ondsd JUS oror 5:9y6 06 96 Sairdirdor eotiod.
Options:
All are correct

. B DPSLDW ISTeEnbe)
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Except ( iii ) and ( v ) all are correct
. (iii ) 208050 (v) 80y, DAV )y DO/

Except (i) and ( iv ) all are correct
(i) 208ain (iv) 8Dy, WHDID 9y HJHD
3. % D =

Except (il ) and (iv) all are correct
(iii ) <odacdw (iv) ) 01'9:}:], aLADDD Elf.'ll ﬂ}gr‘\ﬁg}
4. &

Physics
Section Id : 81356173
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 81 Question Id : 8135613281 Display Question Number : Yes Is Question
Mandatory : No

Eimstein was awarded Nobel Prize tor:

DIV TBS WTVLS BIS° ©DoDHA?

Options:
The theory of relativity
FDET DT odAW

1. & [
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General theory of relativity
AR FDLE dgTesAn
2. % @

Brownian motion

3 % e oD theadsid

Photoelectric effect

4 oy°es” DS 20320

Question Number : 82 Question Id : 8135613282 Display Question Number : Yes Is Question
Mandatory : No

What is the number of significant figures in (3.20 + 4.80) x 10°?
(3.20 + 4.80) X 10% & Frgs Doays” vowen ) ?

Options :

1. % 2

2.v 3

Question Number : 83 Question Id : 8135613283 Display Question Number : Yes Is Question
Mandatory : No
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The velocity-time graph of a moving object (m": ) A

s shown 1n the figure. Find its maximum 80

acceleration? 60 4 |
40 !

8RR 28 HRY gy V-t TR & :
20

S0 WPHLGRA. Lo0d QLA Nebe ) i - X
0 : .

XS od? 20 10 60 80 E(s)

Options :

1 & 3 m. 5%

2 6 m.s 2

3 % 4m s 2

2

4 % 3 m.sT

Question Number : 84 Question Id : 8135613284 Display Question Number : Yes Is Question
Mandatory : No

fw=3i-5] +2kand7 =51 —6 + 6 k. then find linear velocity

—_—

=31 —5] +2k 28T =51 —6] +6k eoand 5ok Siaw

Options :

| v 181 —87 +7k

, x —181 —13] +2k

s % 41 —13] +6k
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4% 61—2] +8k

Question Number : 85 Question Id : 8135613285 Display Question Number : Yes Is Question
Mandatory : No

A bomb is dropped from an aeroplane flying horizontally with a velocity 720 kmph at an
altitude of 980 m. The bomb will hut the ground after a time:

980 1 dedo &oé 720 kmph Sriawd’ §8a Dot HALFHD) DArdi Mol

w8 EPoALA) &0 LEEFR. ot RaaDAL Shard e9d Zraha) Bhdoed?

Options :

1.$ 15

2. ® 2%

3 v 14155

4. % 015 &

Question Number : 86 Question Id : 8135613286 Display Question Number : Yes Is Question
Mandatory : No

Passengers standing in a bus are thrown outwards when the bus takes a sudden turn, This happens
because:

2 Ay BET ST R GBS & "D poirHsw wobus Idabacew. &
R0 dothidod adidoed?

Options :

outwards pull on them

1 % STOR BohS) et
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Inertia

aac‘.‘.e:esm.)
2. ¥

change m momentium

BBDEANS"D STC0y
3. %

change 1 acceleration

L SOEA0 65" SLLV

Question Number : 87 Question Id : 8135613287 Display Question Number : Yes Is Question
Mandatory : No

A hammer weighing 3 kg strikes the head of a nail with a speed of 2 ms™ and drives it 1 cm

mto the wall. The impulse imparted to the wall is

3 kg 06D w8 WEE D dup 2ms™! Hhand EGR @, D G 1em
el Janin. wowd HEe wodBobnds HEEdaw Jod?
Options :

> % 3Ns
3 ® 2Ns

4 % 18Ns

Question Number : 88 Question Id : 8135613288 Display Question Number : Yes Is Question
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Mandatory : No

A wire of length * L * suspended vertically from a rigid support is made to suffer extension ‘ [
in its length by applying a force * F *. Then the work done is

FLTE i 8 S G0N BErdin Aot MV Sradoed.  FTed
WerQ) DOIrAoud drie” Arrbese ‘[ eond, 260% D

Options :
| » 05 FI

2. % Fl

5 % 2FI

4% FL

Question Number : 89 Question Id : 8135613289 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 3 kg 1s under a force. which canses a displacement in the body givenby s =

£3
T (in meters). Find the work done by the force in the first 2 seconds,

t3
3 kg 33003 o S0P o DAL Sod sd7 gva Hoaw s = (o).

©aNd 2 A0S LA BN DI

Options :
1.8 217J

, % 387
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4 v 2417

Question Number : 90 Question Id : 8135613290 Display Question Number : Yes Is Question

Mandatory : No

A force of 10 N acts on a mass of 20 kg which iutially is at rest. Find the work done by the
force during the first 3 seconds of motion.

Ho oV %@ &' &2)20 kg 33030 10 N 200 HIAFD) 6. 008 R0 Bodeds's
Sy 06 3 283 TAE” Lo SV BOA DY ___

Options :
1 % 1251

, % 15517

3.« 22.5]

4. % 4251]

Question Number : 91 Question Id : 8135613291 Display Question Number : Yes Is Question

Mandatory : No
A particle moves in a circle of radius 5 m with a linear velocity of 25 m.s™. Its angular

velocity 15

5 m G0 50 B)3:%0D 28 $raidoo 25 m.s ™! Gt Sridwwd’ Hosreived. o o

i

Options :
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| » 5 rad.s™?
> % 0.2 rad.s™*
3 % 10 rad.s™*

4 % 01 rad.s™*

Question Number : 92 Question Id : 8135613292 Display Question Number : Yes Is Question
Mandatory : No

When a particle 1s moving in a circular track of radius 40 em with a constant speed of

8m. s~ L. its acceleration is

40 em TG0 SN HTe s Areawd” Bm.sTH NOIAS w8 S0 SckoenBvel, T
Cﬁl‘»S?j @565‘3&1)

Options :

1 % 320 m.s 2

> = 120 m.s °

3 » 160 m.s 2

4 % 80 m.s >

Question Number : 93 Question Id : 8135613293 Display Question Number : Yes Is Question
Mandatory : No
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A solid sphere is rolling down an mclined plane of height 21 m without slipping. The maximum
velocity with which it will reach the bottom of the plane 15 (g=10m.s7%)

21m g0 &) w8 Ten SVAD 8 R (VD arogetr FBD) B, T v BE

B0 36 %68 & fvw 6] 3w (g=10m.s7%)

Options :

1 % 17 m.s™*

5 » 103 m.st

5 % 10 m.s™

4 % 1743 m.s?

Question Number : 94 Question Id : 8135613294 Display Question Number : Yes Is Question
Mandatory : No

The length of a seconds-pendulum on the surface of earth is 1 m. Its length on the surface of the

moon would be

B0 Sus0p Dot Sosan aing, Te) 1m eond o duinp &l T

Options :
1
—m
1. 6

2.* lm

1
—m
3 % 36
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Question Number : 95 Question Id : 8135613295 Display Question Number : Yes Is Question
Mandatory : No

A mass “M" 1s suspended from a spring of negligible mass. The spring 1s pulled down a little and

then released so that the mass executes simple harmonic oscillations of a time period T If the mass

G : : . aI _. .
attached 1s mcreased by ‘m’. the tume period was observed to become Ty Find the ratio m ¢ M.

w8 EPOdarS YRS M 3 G503 JreBaed.H8. & Dohi S8 808 e 3608
08 T 8369 o’ ROVFTE) S oo Do) B, DGR @302 M § Sobawg m

or
@33 808, 8363 s 7 ©ou0, eandm: M =

Options :
1. % 9:16

5 v 65116
3 % 16:9

4 % 16165

Question Number : 96 Question Id : 8135613296 Display Question Number : Yes Is Question

Mandatory : No
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The orbital velocity of an earth's satellite in an orbit 15 9 km s™. When the satellite is moved
to another orbif of radius 9 times the original orbit’s radmws. the new orbital velocity of the

satellite 15

Zirad o), G008 A0 GR) w8 GOAAN awg) ST(HAAD 9 km sl es
GO DRVB SE5Av0C TS 9 Ol a@gm £9A% LBaing 5556“% o)
dodond, 58 55566 & GO0 O8] STDANN dod?

Options:
1 % 3.5 kms™t

> % 12 kms™!
3 % 7 kms™t

4¢3 km s 1

Question Number : 97 Question Id : 8135613297 Display Question Number : Yes Is Question
Mandatory : No

The mass and diameter of a planet P are twice and thrice to that of the comresponding
parameters of earth, respectively. If the acceleration due to gravity on earth’s surface 1s

10 m.s™2. the acceleration due to gravity on the surface of the planet P is

Zr @::5::“%% ot Bew, ,:1"5&:3§ S00mc) Bew SHAR BoINS (i ehdduB
ddgdordn ded _ (@rdp g=10m.s™% m &wEod)

Options :
1 % 481 ms™?

> % 381l m §=*
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3 v 222 ms?

4. % 632 ms™?

Question Number : 98 Question Id : 8135613298 Display Question Number : Yes Is Question
Mandatory : No

The area of cross-section of a wire of length 2.1 m is 2 mm?. Find the increase in its length
when it is loaded with 0.5 kg. The Young's Modulus of material of wire is 11 x 10" N.m™2.
(g=10ms™2)

2.1m 6 o 28 & awg), DA DTV 2 mm?. & 86 0.5 kg 26
Serdlmaw. o 8 HErgw e, aboh Mpsin 11X 101 N.m™. & &6 Tdpd”

RV eVn3) (g=10ms?)

Options:

1 % 0.1 mm
> 4773 um

3« 0.1 um

4 % 47.73 mm

Question Number : 99 Question Id : 8135613299 Display Question Number : Yes Is Question
Mandatory : No

Mercury does not wet glass. This property of mercury is caused by

TR0 Treed SEDED. Bdo s, & c;ﬁdén B SV SeRBeH?
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Options:
Adhesion

1 ¢ 90230 BIETTRL

Surface tension
auaaﬁéa

Compressibility
TISERISE

Viscosity

biﬁ;l@

Question Number : 100 Question Id : 8135613300 Display Question Number : Yes Is Question
Mandatory : No

The pressure of water in a pipe when tap is closed is 5.5 X 10° N.m ™. When the tap is
opened. water pressure reduces to 5 X 10° N.m ™. The velocity with which the water comes

out when tap 1s opened 15 . (Denstty of water 15 1000 kg m ™)

Svan SFRADE FRod” A aog) HEdan 55X 10° N.m ™. Svrow 85086
D D630 5 X 107 N.m™2 & @l S0 BBANY LT A ag,
S (D Foded 1000 kgm™)

Options:

1 w10 m.s 1t

> % 5 mst

3 % 20 m.st
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4 % 15 m.s7t

Question Number : 101 Question Id : 8135613301 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): A brass disc 1s just fitted i a hole 1 a steel plate. The system must be cooled

to loosen the disc from the hole.

Reason (R): The coefficient of linear expansion for brass is greater than coefficient of linear

expansion for steel,

DB (A) : 28 BIC DY) 68, D¥)ING'D Godne” BT DiotdtacolnD) &. God8n
ot DY SenBolder SFSOR Y woTd.

sonaw (R) : a9 34 T8 s &8y 8% TS g Soff A8y S.
Options :

Both A and R are correct and R 1s the correct explanation of A

1@ A 20800 R e Godr 20 00050, R 938 A £ L8000 000

Both A and R are correct and R 1s not the correct explanation of A
5« A d08ain R en Sottr 28 ©owdd. R 38 A S 2889008 D560 576

A is correct but R 15 wrong

, x ARDRG 5D R 205°6

Both A and R are wrong
4 % A S08ain R 20 20080 57

Question Number : 102 Question Id : 8135613302 Display Question Number : Yes Is Question
Mandatory : No
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Specific heat at constant pressure is greater that the specific heat at constant volume because
( CP = Cv’:

26 Desaw 3¢ DT, 6 LIVBAFEAD $77) LD otk B8 (Cp > Cy):

Options :
Heat 1s used up to mncrease temperature at constant pressure
ic;id D3 ég Egb_rje:ﬁm DOETAS EQ_&D G201 Rotiertiond

Heat 1s used by gas for expansions purposes at constant pressure and increase internal
energy 1oo.

fgci RIS .‘Jg T°030) J"5§Er:5“3§. 0bain m@g@ F SFE Dot E.T?;;o
=HTebda T IATATAR TN
2.

Heat 15 used up to increase internal energy

3 % Eﬂceﬁg@ S DotitTrAS E%‘l,m} =aTeb bafalal nT AT R TN

The above statement 18 invalid
D DIBIAVVY By

Question Number : 103 Question Id : 8135613303 Display Question Number : Yes Is Question
Mandatory : No
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Match the followng?

Column I Column II
(1)  Adiabatic expansion (a) Nowork done
(i) Isobaric expansion (b) Constant internal energy
(i11) Isothermal expansion (¢) Inerease inintemal energy
(tv) Isochoric expansion (d) Decrease in internal energy
Sofd &) 2eH0teC?
S0 1 S II
(i) 00 FEsa (a) D 26
(i) %20 D T8 (b) 26 eosgs 38
(iii) D agguu ,3“5&“::5;::» (¢) Bodges 3805° DorbE
(Iv) D& DdHBATE avﬁﬁ.:m (d) eodoe $8¢° dbcse

Options:
1 % (i—a), (ii—d), (ili—b), (iv—c)

> % (i—d), (ii—a), (ili—¢c), (iv—>b)

3. v (i—d), (ii—e), (ili—b), (iv—a)

4 % (i—a), (ii—b), (ii—d), (iv—c)

Question Number : 104 Question Id : 8135613304 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

A gas expands with temperature according to the relation V = kT%?. caleulate the work done

when temperature changes by 60 K.
w8 Traoi eddes TEudn V= kT3 %8ne6esn H5T640 Gotoi. e "
Srddy 60 K 0006 2608 D9 (iEdoa)edn.

Options:
1. % 10R

, % 30R

3« 40R

4 % 20R

Question Number : 105 Question Id : 8135613305 Display Question Number : Yes Is Question
Mandatory : No

An ice bubble of volume 1 em? rises from the bottom of a lake 40 m deep at a temperature of
12 °C. To what volume does it grow when it reaches the surface. which 1s at temperature of

35°C 7 (Given 1L atm = 1.01 X 10° Pa )

L om? 208008 maw 0 28 MmO 40 m 6'dos) H6m0y" 12°C &al'dd 36
o g A0od P PR 5908) 6. 35°C 68 36 e ROy EnbderdS
BERBE B0EA DSIBATHAN Jod SEL DANDR? (1 atm = 1.01 X 10° Pa e &€ ol)

Options :
1 % 3.525 x107°m?

, % 4325 X 107% m?

3 ¢ 5.275 %107 m?
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4 % 6725 %107 m?®

Question Number : 106 Question Id : 8135613306 Display Question Number : Yes Is Question
Mandatory : No

Twenty-five tuning forks are arranged in series in the order of decreasing frequency. Any two
successive forks produce 3 beats per second. If the frequency of the first tuning fork is the
octave of the last fork. frequency of the 215 fork is.

i’)‘b;i;j&g;m &3 §3008° 96D 2 HO Gl QRS BT\, DT Totdd S
3)800ErR DS 3 D0YoBT GBS BTow. 268 Fydteto FIPI(H0 DI
3)8cSocio TPV esed &3\, 21 3 $yBciocte A, JIEYIHW dods?

Options :
1. % 72Hz

, v 84 Hz

5 « 288 Hz

4 % 256 Hz

Question Number : 107 Question Id : 8135613307 Display Question Number : Yes Is Question
Mandatory : No

If the refractive indices of flint glass for red. yellow and violet light are 1.612. 1.620 and

1.632 respectively. then find the dispersive power of flint glass.

AR, DA ok & orbhud 8 33:.&13 e cﬁns‘% ;ﬁéa;:;‘.m feasTen 2R

1612, 1.620 0B0d0 1.632. ©008 ot ma aaws), DEDE ﬂ“mg,so Joeh?
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Options:
1 « 0.033

2 % 0.011
3 % 0.055

4 % 0.022

Question Number : 108 Question Id : 8135613308 Display Question Number : Yes Is Question
Mandatory : No

Calculate the fringe width obfained from a double slit apparatus immersed in a hiquid of
refractive index 1.33. given it has a slit separation of 1 mm. the distance between the plane of
the slits and screen is 1.33 m and the slits are illuminated by a parallel beam of light. whose

wavelength in air 1s 800 nm.

O ey 1 mm Sobaso Do, 36 065§ 64P6:2 1.33 m $DAS 2,8 Gotd Do

28860 1.33 8859 g0 DAY w8 G3308° Anesedas. 800 nm S 560

$DAD 8 DATBE 508 Yo2awd DSV HSFIeBAN B, :Jeé Deey dods?

Options :
1 « 0.8 mm

> % 0.6 mm

3 % 0.4 mm

4. % 0.2 mm
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Question Number : 109 Question Id : 8135613309 Display Question Number : Yes Is Question
Mandatory : No

Four point-charges are placed at the corners of a square D C

ABCD of side 10 cm. as shown in the figure, The forceon -4 uC 3uc

a charge of 1 uC placed at the centre of square 15

L]
RSN dradtw, 10 om oadwrrde ABCD $u6R .

TV 36 TR Dot BT &) 0. BBGR Soo

3uc 4 uC
96 &otdd 1 i€ 5333000 DB LV Jod? A B

Options:
1. 7N

2> % 8N

3. 2N

4,v 0

Question Number : 110 Question Id : 8135613310 Display Question Number : Yes Is Question
Mandatory : No

The electrostatic potential at the surface of silver nucleus of atomic number 47 and diameter
12.4 fermi 1s

DOAER W02 47 HBabo TrgoAw 12.4 28 59AR Doc. Sods &DBBLAND fjgcs :Jmlgé
ﬁ‘agmﬁ

Options :
1« 109X 1085V

5, » 109x 107V
AP EAPCET 2021



AP EAPCET 2021

3 % 6.8x 105V

4 % 23X10%V

Question Number : 111 Question Id : 8135613311 Display Question Number : Yes Is Question
Mandatory : No

- . ¥y G 85
Capacity of a parallel plate capacitor becomes 3 times its orginal value when a dielectric slab

of thickness t = 38 inserted between the plates of the capacitor of separation ‘d". Dielectric

constant of the slab 1s

d :
'd” Ar6an o BI0G Dugy Mgy ¢ = ~ ol &) DS Fos Ao DS

4
Pdrodd HULL St Dend N2 Desd . Gt e, vand &) amog) 35535:5

Bes EU"OSD Q00 dod?

Options :
1.% 8

2. v 4

4. ®

Question Number : 112 Question Id : 8135613312 Display Question Number : Yes Is Question
Mandatory : No
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A battery of 54 cells each of emf 1.5 V and internal resistance 2 £ 1s to be connected m order
to send a maximum current through a 12 () resistor. The correct amangement has to be

12 0 Moo wiT 1188 DS > DEDE"AS, HO DAETYVS WOKD 1.5V Boio
wo@ﬁlﬁiﬁm 2 0 o 54 Doereod) a8 u&5m6§ RoGPRA BFAW. VOGN Bds J6?
Options :

2 rows of 27 cells connected in parallel.

w27 D0EPORD 2 HEROS" DITBE Vorr Do Saird

18 rows of 3 cells connected in parallel.

5 % 3 D0tred 18 SMdHees” DATSE Dolrde Bolrd

9 rows of 6 cells connected in parallel.

L x 6 DO 9 BEBOS WTBE VorTBo Baird

3 rows of 18 cells connectad in parallel.

4 18 D0troad 3 SDwe” DATSE Dorde Baird

Question Number : 113 Question Id : 8135613313 Display Question Number : Yes Is Question

Mandatory : No

A magnet of magnetic moment 6 J T~1 is aligned in the direction of magnetic field of 0.3 T.

The net work done to bring the magnet normal to the magnetic field 1s

61T womb-gjodgmsnn $dA% ws wobé“boéan 0.3T &3¢ 5dAx woﬁa“boé
FAG3S" GothadldB. LS T LY 0d £ BN Vo SR THEAS
BODSVN DA

Options :
1. ® 2 J
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3 v 187

4% 247

Question Number : 114 Question Id : 8135613314 Display Question Number : Yes Is Question
Mandatory : No

A rectangular coil of 100 turns and cross-sectional area 5 X 10~ m? is placed perpendicular
to a magnetic field of 0.2 T. If the field drops to 0.05 T in 0.5 seconds. the magnitude of emf

mduced m the coil 1s

5x 1073 m? E?"U}Sm) Sododn 100 sotn Saﬁﬁéﬁl %S 693 DATESEY) édﬁ:&a 02T
ODIF 08 ES0G° EEIS VoA SotdadiAB. 0.5 I 3w 0.05T & DAV,
A" DB DWET\VS Lo

Options :
1.« 015V

2 % 4V
3 % 0.5V

4. % 3V

Question Number : 115 Question Id : 8135613315 Display Question Number : Yes Is Question
Mandatory : No
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The network shown in the figure 1s a part of a complete circuit. If at a certain stant. the
current 1" 13 5 4 and is decreasing at arate of 10° 4 s71. then the potential difference Vg, =

D3NS’ BTDWED w8 HVANANS D w8 LPAAW. DQFJ" R00HA0S’ TS’ HIF
DS 5 A ean| 2BaK & PPN 2edotty B0 10° A 57! o, B B0k A
Dot A6 TOIDES S, Vyy =

10 5 mH
A 15V b
Options :
1. % 5V
> % 10V
3 ¢ 15V
4 % 20V

Question Number : 116 Question Id : 8135613316 Display Question Number : Yes Is Question
Mandatory : No

In a region of free space. the electric field at an instant of time is E = (BU 14327 -

64 ?f:) V.m™* and the magnetic field is B = (0.2 140087 4029 I’) T. The poynting
vectoris . Given magnefic permeability of free space is 4m X 1077 H.m™*.,

w8 DT BT YIS DFT 20000 56, xS ES SIS E = (801 432 -

64 k) V.m ™ 208050 000 850 B = (027 +0.08 j +0.29 k) T wowd
Janetieh #odé_(wqcﬁrésamﬁﬁ e&a‘b&p@ ‘Qééﬁué 4rx 1077 H.om™)

Options :
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, x (1447 —36 j) x 10° w.m™
- (1447 —26 j) x 10° W.m™2
, o (1146 7 — 2865 7) %105 W.m 2

4. % (1146 j —15.65 k) x 10° W.m™2

Question Number : 117 Question Id : 8135613317 Display Question Number : Yes Is Question
Mandatory : No

What is the dynamic mass of a photon of wavelength 1 A ?

1A &6of B o 28 TerS cing), (S G303

Options :
-32
1. ¢ 221 10 kg

, % 6.62 X107 kg
221 x10732 g

3. %

4 % 2986 X 10732 kg

Question Number : 118 Question Id : 8135613318 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

An electron jumps from n = 2 to n = 4. Wavelength of radiation absorbed 15
28 QTSN =2 Aol n = 4 § Arded. Fodd D0t S6oBYIN

Options :
16

1.%# 5R

16
3.v 3R

5R
4.% 16

Question Number : 119 Question Id : 8135613319 Display Question Number : Yes Is Question
Mandatory : No

The current amplification factor for commeon emitter arrangement 1s 59, If the emitter current

1s 5 mA. then the collector current 15

a8 e;ﬁaéd &6 (CE) 3);5“5":0:;13&5“ DT> ;ﬁ&g S68a0 59. 6T°6 9T 5 mA wond

N80 DTN
Options :

1. & 492 mA
9 % 6.92 mA

3 % 2 mA
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4 % 8 mA

Question Number : 120 Question Id : 8135613320 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Modulator or encoder is an essential component of a transnutter,

Reason (R): The message signal has to be changed info a form suitable for transmission,

DB (A): D63 g, 28 202D T80 S GO,
5680 (R): VoG 003T°) PRB0D BALEAS BRPD ArHANG’ Jromy .

Options :

Both A and R are true and R 1s a correct explanation for A

- A 508030 R Sotr DO8ADAD. SH0Bodd R @936 A S DB S0

Both A and R are true but R is not a correct explanation for A

, % A 208030 R o> 28qHAD, SO R 0938 A & 28aDd D 576

A 1s true. R 1s false

3 % ADOGDIG, 5 R D6 57

A 1s false. R 1s true

4 % ARBTE S R DS

Chemistry
Section Id : 81356174
Section Number : 4
Mandatory or Optional : Mandatory
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Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 8135613321 Display Question Number : Yes Is Question
Mandatory : No

The exact path of electron in any orbital cannot be determined. The above statement is based
il

IBT BOrS & QTN AWE), PSRN AT Aowority FE(E0 T, &
D000 Artedd
Options :

Hund's Rule
e VoG QoSS

Bohr’s Rule
5 % 86 JoBawaw

Uncertainty Principal
v )TNGB DOI0DW

Autbau Principal

4 % £50 &7 oS

Question Number : 122 Question Id : 8135613322 Display Question Number : Yes Is Question
Mandatory : No
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The frequency of radiation emitted, when an electron falls from n = 3 ton = 1. in a Hydrogen
atom would be

(Given. tonisation energy of Hydrogen is 2.18 X 107 J /atom and h = 6.625 X 1073* J.s)

TEBS DoArmPS n =3 3% T ol 1 = 1 3 3§ Fand"d8 Jugs arddpd
DR el J86eo 3‘&5@@50:33 8] 06506, ( T2 vohALon #3 218 x 1072 1/
atom 208030 h = 6.625 X 107 I.s )

Options :
1 % 292x10° hour™

5 % 292x107% s

3 v 292 X 1015 571

4 % 292 min™!

Question Number : 123 Question Id : 8135613323 Display Question Number : Yes Is Question
Mandatory : No

If an element with atomic number Z = 115 has been discovered today. in which of the

following family would it had been placed and identify its electronic configuration.
Z =115 il Sureso & 6| Svod” SFIGIA. 8563 HEES” oD drd/enote,
J)ug’fo DT [00 SERT

Options :
Boron Family: [Ar] 414 54%° 652 6p°
| % 50" Sotwotdo: [Ar] 4f1* 5410 652 6p°

Carbon Family: [Kr] 5F% 6d'® 752 7p°
5 % S°6y® Soewotio: [Kr] 5% 6dW 7% Tp?
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Nitrogen Family: [Rn] 5F™ 6d'% 752 7p3
3. ¥ 252D Dewotve: [Bn] 5F1 6410 752 7p3

Oxygen Family: [Xe] 4f1* 541° 652 6p3
8 2 Sotwordo: [Xe] 41 54 6s* 6p?

Question Number : 124 Question Id : 8135613324 Display Question Number : Yes Is Question
Mandatory : No

Which order among the following is incorrect?
208 S0008° DO 526 DE?
Options :

1 % NH; < PH; < AsH3 ¢ (Acidic nature) (8520 R2rH50)

o Li<Be<B<C: IE (AH)

2

3 % Al,03 < Mg0 < Na;0 < K,;0 : (Basic nature) (326 22r050)
Lit o * 4 (Tonic radius) ( - P

4% i < Na < K < Cs @ (Ionic radius) (escis 5:.!'“15 gc}

Question Number : 125 Question Id : 8135613325 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

The successive lonization energies of an element. in kJ. mol ™" are 1060, 1900, 2920, 6280

and 21200. This element would belong to group-

w8 P05y BabSE Jomrdy © Dewdw 6% 20ax 1060,1900,2920,6280 S080sw
21200 kT.mol™ . & Soredan D Ars Bodow

Options:
1.4V

2. Fo 1|il-'ir:[
3 % VII

4 % IV

Question Number : 126 Question Id : 8135613326 Display Question Number : Yes Is Question
Mandatory : No

How many among the given species have a bond order of 3 7
QIS PSR BI6GSAT0EH 3 T &) D ) ?

¥ a2 2+ -

co.NOY.C, .0, .CN .NO

Options :

’I.%l

3. 5
4, % 4
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Question Number : 127 Question Id : 8135613327 Display Question Number : Yes Is Question
Mandatory : No

Which of the followmng i1s not a correct statement?

S0 ToS° DB DT 57E0?

Options :
Every AB: molecule has square pyranudal structure

1« 28 AB- o9 sy tieIbRR) H8E 95,3 Gobobd

Multiple bonds are always shorter than corresponding single bonds

- BITPORIOETEN) DEIE PoeioBoR)d DEzorre) ot DVIDYET ﬁ“g;:r? EobTaN)

The electron deficient molecules act as Lewis Acids

DOFD GG (0 DAV FRPLD L0 IR DI A Floby)

The canonical structure have no real existence

. 523058 o7 erdE Jad (den wans) & S

Question Number : 128 Question Id : 8135613328 Display Question Number : Yes Is Question
Mandatory : No

In which of the following species. the central atom has the maximum number of lone pair of
electrons?

Soth 2reow® Sogd DS (L) ok JUTD Bobw Roa)], SSASINIT 69) & 20?

Options :
1 % SF,

> x XeFy
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3 % ClOg

4 v Iz

Question Number : 129 Question Id : 8135613329 Display Question Number : Yes Is Question
Mandatory : No

A gaseous mixture contains 2 moles of 4. 3 moles of B. 5 moles of € and 10 moles of D
contamed 1n a vessel, If the gases are 1deal and the partial pressure of € 15 1.5 atm. then the

partial pressure of B will be

2 areww 4, 3 aree B, 5 Arww C 000w 10 drew D Jraingyon (o ws
TOIIATY) w8 dradabug TS’ Gorrd. & TohuPeD 5036 TO0YL DIG
S Godh, € aMg), S AW 15 atm wawd, B ding 48 Hedsw

Options:
1 & L5 atm

5 % 0.6 atm
3 0.9 atm

4 % 1.66 atm

Question Number : 130 Question Id : 8135613330 Display Question Number : Yes Is Question
Mandatory : No
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A gaseous mixfure was prepared by taking equal number of moles of Helium and Neon. If the
total pressure of the mixture was found to be 10 atm. the partial pressure of Helium in the
MIXfure 1s

RATH aaoaaigej* Areveniv srdabo 805 AOLPD TaMNK FAe BN w8 Trak
D337y SoirdodTd. & Takw e HERe 10 am wand, Dided” rdabo
Toi09) FEE ESo dos?

Options :

1 % 1 atm
2 5 atm
3 % 10 atm

4 % 0 atm

Question Number : 131 Question Id : 8135613331 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following can act as both an oxidizing and a reducing agent?
$08 %) 0’ DB e9y36e SBakL SabSEE T HIG (EH?

Options :
1. ¢ HE 02

> % 503
3 % HyS

4 % P2
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Question Number : 132 Question Id : 8135613332 Display Question Number : Yes Is Question
Mandatory : No

Calculate the amount of ime, Ca(OH _}2. required to remove hardness of 50,000 litres of well

water which contains 1.62 g of calcium bicarbonate per 10 liters.
[Given. atomic masses: Ca —40,H—=1,C-12,0 - 16]

10 Deagep 162 rrdove s-fatio @553 (0 50,000 g e D) 86307 Swocsonssy
Ddod 26N (10 W) o, Ca(0H),, TITH?

(DOArm gaﬁmmw: Ca—40,H-1,0-12,0 - 16)

Options :
1 % L5 kg

> v 3.7 kg

3 x 28kg

Question Number : 133 Question Id : 8135613333 Display Question Number : Yes Is Question
Mandatory : No

When a perfect gas at 27 °C is heated. at a constant pressure. to a final temperature of 327 °C,
then the volume of the gas increases to fimes the original,

20 DEIIN 26 ws R 050 27 °C Aot 327 °C S0 I ST o0 Jroin

LORDBATRAN oz LINBATETIS 56 DAMR0B.

Options :
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Question Number : 134 Question Id : 8135613334 Display Question Number : Yes Is Question
Mandatory : No

For the equilibrium. PC {5@ = P(; 33@ Fi Izrg) at 298 K, K, = 1.8 x 107", Then, AG for this

reaction will be [ Given log4.5 = 0.6484 |

PCly, 2 PCly +Cl 03 03reo8 298K 3¢ K, = 18X 107 eond, & oS
{gJ {gl IEF w @ 1

AG Dend [log45 = 0.6484]

Options :

1 % 1456 kJ.mol™*

> % 13.82 k1. mol ™t
3 % 1624 kImel ™

4 v 19.12 kI.mol™

Question Number : 135 Question Id : 8135613335 Display Question Number : Yes Is Question
Mandatory : No
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1
- the reacti N =3 ;
For the reaction S{JZ(E]Jr ) Oz{gj : 03{5” the
percentage yield of product at different pressures is shown in

the figure. Then. which among the following 1s true? [5031 Py

yleld P,

$08 w6185° &\ 0 Brbead DG Seow 36 Do’

SrDREN0. S0t THG D Joas HIHG?
1
$0xy) i Ozg) = 3035

Options :
Pressure has no effect

- DED DDA Eot )

Z'QPI::PZ{&
3.JF1:-FE > Py

4. ® F1:P2:P3.iﬂ

Question Number : 136 Question Id : 8135613336 Display Question Number : Yes Is Question
Mandatory : No

For the reaction Na,S0, =2 Nn?ﬁq} +§ 042[;5_3' if AG® = 458.7 kJ. then find the value of

(s)
Ky of Nay 50, in water at 27 °C,

—5 + = = o _ il 73
NagS0y, = 2Naf  +S0,7  w0ie Py Sy 88 0y AGY = 4587 K1, 27°C 36
sogrncd Na,50, dwg), Ky, dended?

Options :

. % —10.2191
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> % 12.019 x 107°
3 v 6.038x 107H

4 % 3.061x107°

Question Number : 137 Question Id : 8135613337 Display Question Number : Yes Is Question
Mandatory : No

Tonic hydrides are usually

03 E PEA QO IO

Options :
liquuids at room temperature
(0 &J'0d S ST

good reducing agents
) o) £oDSdrve

zood electrical conductors in sohid phase
ma@;ﬁ:’gﬁ“ 2000 DENEES"A

easily reduced

4 % RDZIEMT Lo30S0EIotdd LR

Question Number : 138 Question Id : 8135613338 Display Question Number : Yes Is Question
Mandatory : No
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Identity the sequence representing the correct order of ionic mobility in aqueous solution.
& 808 820508 26 ouFArrYs’ BairaY Budo a308), RBAD 20

Options:

1 % MQH > Ca*t > $r*" > Ba™"

Question Number : 139 Question Id : 8135613339 Display Question Number : Yes Is Question
Mandatory : No

Which metal is protected by a layer of 1ts own oxide?
& 93 \E 83 SLousd S rhw D&?

Options:

1.v Al

Z.QAH
3 % Fe

4. % A9

Question Number : 140 Question Id : 8135613340 Display Question Number : Yes Is Question
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Mandatory : No

Chemically zeolites are

SIS0 2ATTED DD

Options :
Calcium silicates

- E"%Oﬁ}a 338?.&{_.})

Sodium silicates
_ ciao OS5

Hyvdrated alnminosilicates

(DYe) wwgﬂabcmﬁn 2080
v 8 ¥

Magnesium silicates

4w 2ofAyooe SOSew

Question Number : 141 Question Id : 8135613341 Display Question Number : Yes Is Question

Mandatory : No
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Match the following:

Pollutants Effects
(a) Chloro fluoro catbon (1)  BOD level of water mcreases
(b) Methane in air (1) Acid ramn
(¢) Synthetic detergents in water (11) Global warming
(d) Nitrogen oxides in air (iv) Depletion of ozone layer
SoBT 0 2dHEEIH:
sy SPtweD RTTW
(a) 86 TE=03 (i) 8 cwe) Srow Dby
(b) ™85 DI (i) 58 S¢AW
(c) 5’8y B Eagotn (ill) Zrordsw
(d) S S ug® (iv) &&S F6 dndd
Options :
, » (a—iil), (b—iv),(e—i),(d—ii)
> (a—iv),(b—iii),(e—1),(d—ii)

3 % (a—iv),(b—ii),(e—1),(d—iii)

4w (a—iii),(b—ii),(c—1i),(d—iv)

Question Number : 142 Question Id : 8135613342 Display Question Number : Yes Is Question
Mandatory : No
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The number of 1somers possible for a compound with molecular formula C; F Cl Brl 1s

C,FCLBri eﬁm&m&v o 28 030 ¥d8 3“:;35;330335 o Sbe Qo8

Options :

1.2 4

2. ¥

3.% 8

Question Number : 143 Question Id : 8135613343 Display Question Number : Yes Is Question
Mandatory : No

0 — nitrophenol & p- nitrophenol are separated by
0 — R DTS BIW p- D Hres 0 S Bok DEdBw

Options :
Crystallization
SNGLELE RS

Fractional distillation
e907S i:scﬁé.‘:m

Vaporization
TR RN

4.+
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Steam distillation

2O 2T i:,f:,cﬁa':m

Question Number : 144 Question Id : 8135613344 Display Question Number : Yes Is Question
Mandatory : No

(1) Give maximum number of alkyl-chain 1somers can be obtained from the alkane C-Hy, 7
(11) The [UPAC name of n — CcH,5 1s

(i) CsHy, 66 I% Godtiv 806 30w &maéigsﬂv (3653 o3[ Jod?
(i) n— C5Hy, aig), TUPAC Db
Options :

(1) . (ii) Pentane

1 (i) 3 : (ii) DotSd

el

(i) 5 ; (ii) 3-methyl butane

(i) 5; (i) 3-&Eed m}g%
2. % =

(1) 4 ; (ii) 2,2-dimethyl propane
(i) 4; (i) 22-20aS T

(i) 2 ; (ii) 1-pentene

4w (D 25 (i) 1-008S

Question Number : 145 Question Id : 8135613345 Display Question Number : Yes Is Question
Mandatory : No
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An excess of potassium ions makes K€ crystals appear violet or lilac in colour because

KCl 9yB80 wdsom Jirhabo eoirdui s9A &)yt v b oo ders
Boref’ 08I0, oS

Options :
of the presence of inpurities.

_— 007w 94 Swd.

some of the antonic and cationic sites are vacant,
. £ 53085 2wk SerasrdS e O™ Goliit) Sed.

some of the anionic vacancies are occupied by unpaired electron.

. £ edasrds PR BAATED VSOVS 35DotILICOL) SO,
3. 2

some of the cationic vacancies are occupied by unpaired electron.

L £ &30S8 9700 RAAPED JVTROE B35t DD

Question Number : 146 Question Id : 8135613346 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following mixtures of solutions follow the conditions 4 H < Oand &  V <07
(1)  Nitric acid + Water
() Acetic acid + Pyridine
(i) Ethanol + Water
(iv) Carbon tetra chloride + Chloroform
808 TR dgared’ By < 0 00080 A V<0 RoDATVR FElotia) Na)?
(i) @50 + A
(i) DS o + HBED
(i) RSSO +
(iv) =6y B §06 + EEF D
Options :
(iii) & (iv) only
| x (i) & (iv) Srgd

(i) & (iii) enly
5w (i) & (iii) SrgS

(i) & (iil) only
5 o () & (i) 2rad

(i) & (ii) only

4w W& (ii) Sroddo

Question Number : 147 Question Id : 8135613347 Display Question Number : Yes Is Question
Mandatory : No
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A solution of 122 g of benzoic-acid m 1000 g of benzene shows a boiling point elevation of
1.4 °, If the solute is dimerized to an extent of 80 %. the boiling point of pure benzene will be

(Molar enthalpy of vaporization of benzene = 7.8 kcal. mol™)

1000 g © 802" 122 g © Borans BArd) o GSndn oRs), a_?f'a_)e;:)agﬂé &%) 8
1.4°. 80 % raddan AUST &) )\@. g 368 o GIVE), a,rﬁlbeﬁba g'uéo
(B0 e85 dotrdy = 7.8 keal.mol ™)

Options :
1 v 420K

5 % 370K
5 % 540K

4w 460K

Question Number : 148 Question Id : 8135613348 Display Question Number : Yes Is Question
Mandatory : No

At a fixed concenfration. the molar conductance of aqueous sodmm hydroxide at 298 K 15
found to be 10 ohm™. cm®. mol ™. At infinite dilution and 298 K. its molar coniductance is
found to be 242 ohm™'. cm?. mol™*. Find the dezree of ionization of sodium hydroxide at the

same concentration and lemperarure.

298 K dain %d med 58 Jdodo TEFE ORI AE), e T

10 ohm™. em?. mol ™. 98 mrdme ©ded D38 56 242 ohm™.cm? mol™ arerd
Ferda 6B 63)6. 68 &l buw méde 38 Fdabe FEEE Lakdes
538 dod?

Options :

| % 2.06%
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3 = 0.04%

4 % 10%

Question Number : 149 Question Id : 8135613349 Display Question Number : Yes Is Question
Mandatory : No

Given half-cell potentials E - 2 =04V adE. . .. =—091V. find the standard
gy cr="/Cr

P2 Jer

reduction potential of C13%/Cr

030 20 FOIDSW E” . =—04V 80w E° . =—-091V eawd, (r3t/cr
a o critier® critjer

aWE), DA LaHSER TOYaHe Dewsd

Options :
1. % —131V

2 % —L71V
3 ¢ —0.74V

4 % —0.51V

Question Number : 150 Question Id : 8135613350 Display Question Number : Yes Is Question
Mandatory : No
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For a galvanic cell Cr/Cr3* // Cd%/Cd . caleulated AG® for ifs all reaction will be
[Egyst o = =074V  Epgos gy = —040V]
Cr/Cr3* [/ Cd*[Cd Trer8 sutsin ciog) e (0 T),00 AGY ewd

0 0 r
[Et.‘rs"'ffr =—0.74 V'ECd“jEd =040V ]

Options :

1 % —28.95 k] /mol

5 % —125.4 k] /mol

3« 1968 k] /mol

4 = —87.6 kJ/mol

Question Number : 151 Question Id : 8135613351 Display Question Number : Yes Is Question
Mandatory : No
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Match the entries in Column-I with the terms used to show the effect of process m Column-II ?

Column -1 Column - 11

(1) Ferric hydroxide 1s mixed with arsenic sulphide sol (a) Double decomposition

(it) FeCly is mixed with freshly prepared pptof Fe(0H); | (b) Coagulation

(111) H,S gas 1s passed through arsenic oxide solution (¢) Tyndall effect

(1v) A beam of light 1s passed through milk (d) Peptization

15 Sudd’ 63) dmrosswm 115 EuRd’ M) Mowedd purdin 8dabdatn v
2800000

|3 S Il 3 &0l

(i) 285 PEdye ﬁébi)é S ¢’ 5008 (2) &zl dairian

(1) FeCly % i doird> 358 Fe(0H) 08800 $008 | (b) %0680

(i) S o) 698 e93y& Erdmadn) Aot Homded (c) ol Herdin
(V) 8 508 ot T T Do (d) :nigsmm
Options :

1 % = d), (i — a), (iii = b), (iv — c)

2 o - b), (ii — d), (iii — a), (iv — ¢)

o x (= d),Gi— b), (iii — a), (iv — ¢)

4 % (b)), Gi— a),Gi— d),Gv— o)

Question Number : 152 Question Id : 8135613352 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following is the correct sequence of bond-energies?

308 T365° L0t 30w HBADH S0 DE?

Options :
1 % (0—0) > (§5—5) = (Se—Se) = (Te—Te)

, x (Te—Te) > (Se—5Se) > (§—5) > (0-0)

Ly 8=9) > (Se—=5Se) > (0-0) > (Te—Te)

4 % (Te—Te) > (0=0) = (Se—S8e) = (§—85)

Question Number : 153 Question Id : 8135613353 Display Question Number : Yes Is Question
Mandatory : No

Sulphur reacts with chlorine in 1 : 2 ratio to form X. X on hydrolysis gives a Sulphur

compound ¥. Then the central atom of the anion of ¥ has hybridization.

112086 20\6 865 & 656{Tob X Q0 Reiy. X o8 20080 Sud 2d
o ¥ €80 030} 90 DR, T ding), 8daird & Sof DA Dosbednin D6?

Options :
1. % SP
3
2.4 5P
3 % sz

4 % sp7d
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Question Number : 154 Question Id : 8135613354 Display Question Number : Yes Is Question
Mandatory : No

A tetra-atomic molecule (4) on reaction with Nitrogen(I)Oxide produces two substances (B)
and (C). (B) acts as a dehydrating agent while substance (€) is a diatomic gas which shows
almost inert behavior, The substances (4). (B) and (C) respectively are

Treur DEArPY ) Bod 4, A [ uFE § 50 Tl B 0Batn € v
w&‘}m. B ws :}ngdﬁ 208010 € w8 BR0rI0s T0INY), RoF™ TR &6 J°0I0
‘bsa_rmals% &3)8. 4, B oBotw € dergan

Options :
1. ¢ Py , PyOyg., Ny

, % Pa, N2Os, N,

5 % Pa., P03, Ar

4 % Fa, P303, 0,

Question Number : 155 Question Id : 8135613355 Display Question Number : Yes Is Question
Mandatory : No

Transition metal elements exhibit general electronic configuration
DBIGED VSV FEOR VT DT (Ro

Options :

-~ ngl=23gt-10

5 @ isi—2 {H— 1)d+10
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3 % ns? (n—1)d"

4 % ns?(n—1)d°

Question Number : 156 Question Id : 8135613356 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Vitamin Source
(a) Vitamin -D (1)  Fish liver o1l
(b) Vitamin - E (1)) Green leafy vegetables
(¢) Vitamin - A (u1) Eggvolk
(d) Vitamin - K (1v) Sunflower Oil
S0 TR BBECINAN?
DL Ldoch guxam:
(a) DS -D (1) @0 936 ard
(b) Q&abI-E (1) DB B SR
(c) DLDI-A (1) Aogd T
(d) Dodd-K (iv) TEBErME P AR

Options :
. » Ca=iii),(b—ii),(e—iv),(d—i)

> # (a—iv),(b—iii),(c—ii), (d—i)

AP EAPCET 2021



AP EAPCET 2021

3¢ la—iii),(b—iv),(c—1i),(d—ii)

4 % (a—iv),(b—ii), (e—iii),(d—1)

Question Number : 157 Question Id : 8135613357 Display Question Number : Yes Is Question
Mandatory : No

The major products (P) and (@) in the following reactions respectively are:

& Sod BSOS D0ED DETRD EBYT) VAN P 20BoI @ w0 SERT

i) Mg, Dry Ether 5
Br Tiyp,0 > (P)
1) Zn / dil HCI
> (Q)
Options :
0D
(e U (Q):
1. %

OH

(P): [:::IiD (Q):
2. %
D
(P): O/ (Q):
W

AP EAPCET 2021
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D
(P): U (Q): @

Question Number : 158 Question Id : 8135613358 Display Question Number : Yes Is Question
Mandatory : No

Identity the product of the following reaction:

208 t:-dﬁej'ﬁ SJCSJE &y o A7

H4C Cu,573 K
>CH—UH > 7
H,C s 1
Options :
H4C
>c[’I_CH3
1% HaC
HiCo_
/C=(J
5> % H
HiC_
C=0
1:¢”
3¢ 3
fh&\c_ﬁfﬁHg
Y sl
L HiC NCH,
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Question Number : 159 Question Id : 8135613359 Display Question Number : Yes Is Question
Mandatory : No

The products formed when (CH;)3;C — 0C, He reacts with HI are
(CH3)3C — 0C;Hs &0 HI & 56§ 22028 D6yt &dyT=)en

Options :
Ethyl 10dide and tert-butyl alcoliol
. &GO VATEE DBl GO Lar(Bo o) O

Ethyl alcohol and tert-butyl 1odide

S0 ev) TS Jodaiw 6 Lrtis wargt
2. o ] %

2- Methyl propane and ethane
L 2- 085 THI 2B0s0 SHED

Ethane and 2- methyl butane

v D 208000 2- 0FES en§esS

Question Number : 160 Question Id : 8135613360 Display Question Number : Yes Is Question
Mandatory : No

Identify the products (X) and (Y) of the following reaction:

S0d tﬁﬁﬁlﬁﬁ X Sobadiw YV Hdonrr

(i) 0,
Cumene — > (X)+(Y)
xS (ii) H,O/H
Options :
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Toluene. Propene

|« 05, TS

Toluene. Propyl chloride

, x O3, Tpo §0

Phenol. Acetone

5 o TS, RED

Phenol. Acetaldehyde
o DTS, IrYE
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